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FTEFEHET1 TRAER (T/KEH#EL) PP ©$50,40,20,13 &#, 57

s B K OV X

4 ks o
[Epr] AER
i et PR o ¢ 50 35 + 1.0 4.5 m
¢ 40 125 + 1.5+ 9.3 23.3 m
¢ 20 1.5 1.5 m
¢ 13 1.0 1.0 m
V7 M= ¢ 50 1 1 =S
HADFHE (IELE) [ JWWA B 132 ] 1 2l
N
PR25 (K) 2 2 1
pEE
RA25 (A) 1 1 1
R
RC25(C) 1 1 &
JEhR
RS25 (S) 1 1 HH
MPYaA b ¢ 50 1 + 1 2 {El
PREEE rob ® 50X ¢ 40 1 1 18
PPESETF—RA 640X ¢ 20 1 1 1
640X ¢13 1 1 1
PVYAroh ¢ 20 1 1 1
613 1 1 1
DIPH
YR kiR $ 100X ¢ 50 1 1 1
& 50 ¢ 40 ® 20 613
B ms—7 150mm 45 + 233 + 1.5 + 1.0 30.3 m
4t 3 3 18
PRAFry & 40 1 1 1
[#%] AR
AV F LB L ¢ 50 4.5 4.5 m
¢ 40 23.3 23.3 m
é 20 1.5 1.5 m
613 1.0 1.0 m
Vi Fe K TR R
PR T ¢ 50 1.0 + 00 + 00 + 1.0 2 o
ek F—X TR R
¢ 40 1.0 + 40 + 00 + 0.0 5 O
ik Fe K TR R
é 20 20 4+ 1.0 + 0.0 + 0.0 3 O
ik Fe K TR R
613 20 4+ 1.0 + 0.0 + 0.0 3 O
BT — 7 sk 30.3 30.3 m
AnsIE i )
(Bt &) ¢ 50 1 1 =10
5 RAN
FRAAKAREIAL T ¢ 100X ¢ 50 1 1 P
AT = HVHET T ¢ 50 2 2 i1
TR ¢ 50 2 2 8]
AR F- LI T & 50 ] ] 8]
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+ T O & XK
Rl 7 FHIT 1 L [X, PP ¢ 504%% LR a5 HER(H) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
Yt E= 0.55 x( 0.8 + 0.060 + 0.1)=  0.53
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.87 - 03 - 017)=  0.22
BaAE (W) HHABTE () A
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.53 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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BT FEHT 1T X PP ¢ 40A3% TR ERMH) = 065 m
PP ¢ 40 FEHHE (W) RIE(C)
B (D2) 0.048 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 055 + 0048 + 0.1)=  0.38
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.62 - 030 - 0.17)=  0.08
HRAE (W) WL (h1) TR
PR = 0.55 X 0.45 - 00018 = 0.24 m
PH T
FEAE T IE = 0.38 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 5 EOME 48
1 |PP¢13 21.5 0.55 W:| 5 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
PP ¢ 30
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT FEHT 1T X PP ¢ 20A3% TR a1 ERMH) = 065 m
PP ¢ 20 FEHHE (W) RKIRE (C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X ( 0.55 + 0.027 + 0.1)=  0.37
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.17)=  0.08
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.427 - 0.0006 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
BT FEHT 1T X PP ¢ 13A3% TR e ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 055 + 0.022 + 0.1)=  0.37
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 01 - 0.17)=  0.19
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.222 - 0.0004 = 0.12 m
PH T
7% L= 0.37 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < 3
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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R E7EHEET1 TX{RE% (T/KE##HBI) PP¢50,40,20,13 &#

s B K OV X

4 F HAx i B | A
[#] %

VES NP o ¢ 50 1.0 0.6 0.5 2.1 m
® 40 1.0 0.3 11.5 1.5 + 9.3 23.6 m

¢ 20 0.5 1.2 1.7 m

613 0.9 1.5 2.4 m

PPEEE o] ¢ 50X ¢ 40 1 1 {8
PPEET—X $ 40X ¢ 20 1 1 {8
40X ¢ 13 1 1 {8

PPx/LR é 50 2 2 {8

® 40 2 2 {8

620 1 1 {8

$13 1 1 {8

PV LR 620 1 1 {8
$13 1 1 {8

PRI $ 40 22.3 22.3 m
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FTE7 BT TX{RE% (T /KE##HB) PP ¢50,40,20,13

i
7

ot

s B K OV X

4 B Hks L SR
[F#] %
ARU=F LB T é 50 2.1 2.1 m
$ 40 23.6 23.6 m
¢ 20 1.7 1.7 m
613 2.4 2.4 m
Vi Fe K TR R
PPHET T2 ¢ 50 1.0 0.0 4.0 + 0.0 5 &
ek F—X TR R
$ 40 1.0 4.0 4.0 + 0.0 9 &
ik Fe K TR R
¢ 20 0.0 1.0 4.0 + 0.0 5 &
ik Fe X TR R
613 0.0 1.0 4.0 + 0.0 5 &
AV F LR T ¢ 50 2.1 2.1 m
$ 40 23.6 23.6 m
¢ 20 1.7 1.7 m
613 2.4 2.4 m
W R
o5 PP ¢ 50 2.1 1.216 2.55 2.6 kg
M i
PP ¢ 40 23.6 0.788 18.60 18.6 kg
iz it
PP ¢ 20 1.7 0.269 0.46 0.5 kg
M it 3
PP¢13 2.4 0.184 0.44 0.4 kg
&5 22.0 kg
PPIRAR o fiEsk e
BRI TS & 50X ¢40 1 2.660 2.66 2.7 kg
PPRBETF— A fas i
40X ¢ 20 1 2.480 2.48 2.5 kg
PPRBETF— A fas i
¢ 40X 13 1 2.330 2.33 2.3 kg
PP LR Ak s
¢ 50 2 3.170 6.34 6.3 kg
PP LR %k
¢ 40 2 4.31 4.3 kg
PPxLR %k R
¢ 20 1 0.490 0.49 0.5 kg
PPxLR %k R
¢ 13 1 0.340 0.34 0.3 kg
PVITILR ik s 4
¢ 20 1 0.535 0.54 0.5 kg
PVITILR ik s
¢ 13 1 0.365 0.37 0.4 kg
19.9 kg
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+ T O & XK
R 7 FHIT 1L [X, PP ¢ 501 LR a5 HER(H) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 080 + 0060 + 0.1)=  0.53
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.87 - 030 - 0.17)=  0.22
HRAE (W) WL (h1) TR
PR = 0.55 X 0.46 - 00028 = 0.25 m
PH T
FEAE T IE = 0.53 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
R 7 FHIT 1L [X, PP ¢ 501 LR a5 HFXR(H) = 030 m
PP ¢ 50 PEH R (W) FIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.2 0.060 + )= 0.14
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - 0.17)= 0.06
HRAE (W) WL (h1) TR
AL = = nt
PH T
FEAE T IE = 0.14 n
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & R
o B FHIT 1 X, PP ¢ 401 % TRt ERMH) = 030 m
PP ¢ 40 FEHHE (W) RKIRE (C)
B (D2) 0.048 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.2 0.048 + )= 0.14
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - 0.17)=  0.06
EHE (W) BRI (h1) B
WO R = = m
PH T
7% L= 0.14 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 5 EOME 48
1 |PP¢13 21.5 0.55 W:| 5 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
PP ¢ 30
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < 3
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
B B FHIT 1 T X, PP ¢ 204f% Bt 5 ERMH) = 030 m
PP ¢ 20 FEHHE (W) RKIRE (C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.2 + 0.027 + )= 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.17)= 0.06
HRAE (W) WL (h1) TR
IR B = - = i
PH T
7% L= 0.12 nf
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME JEHINE D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
PP ¢ 50 60.0 0.55
7 |DGX¢ 75 90.0 0.55
8 |DGX ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |DGX ¢ 150 180.0 0.55
11 |DGX ¢ 200 250.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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+ T O & R
BB FHIT 1 X, PP ¢ 134Ra% TR et ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.2 + 0.022 + )= 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.17)=  0.06
HRAE (W) WL (h1) TR
B = X - = i
PH T
7% L= 0.12 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 93.0 0.55
8 |HPE ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 169.0 0.55
11 |HPE ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < 3
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FIE7HEBET2 T XAER (T/KEHBI) PP¢50,20,13 E# -H7%

W B X% T

4 ks o
[Epr] AER
RYF L g ¢ 50 50 4+ 1.0 + 250 + 25.0 + 13.8 69.8 m
¢ 20 0.5 0.5 m
613 0.5 + 1.5 0.5 + 05 + 1.5 4.5 m
V7 M= ¢ 50 1 1 =S
B (L E) | JWWA B 132 ] 1 2l
HEY T
PR25 (K) 2 2 1
LA
RA25 (A) 1 1 1
e
RC25(C) 1 1 1A
JEhR
RS25(S) 1 1 2l
MPYaA b ¢ 50 1 + 1 2 {El
PP/ Aok ¢ 50 1+ 1 1 3 1
PVYAroh ¢ 20 1 1 1
613 1+ 1 1+ 1 + 1 5 1
DIPH
FRLAy KRR $ 100X ¢ 50 1 1 1
])])ﬁé‘;m
H R4 Ak 50X ¢20 1 1 1
$50X ¢13 5 5 1
¢ 50 ¢ 20 613
B ms—7 150mm 69.8 + 0.5 4.5 74.8 m
= —H—k 7 7 18
HRAFyy T & 40 ] 1 &
[#%] AR
AV F LB L ¢ 50 69.8 69.8 m
é 20 0.5 0.5 m
613 4.5 4.5 m
ik F—X TR R
PR T ¢ 50 6.0 + 0.0 0.0 + 1.0 7 £
ik F—X TR R
é 20 2.0 + 0.0 0.0 + 1.0 3 r
ik F—X TR R
613 100+ 0.0 0.0 + 5.0 15 £
BT — 7 sk 74.8 74.8 m
AnsIE i )
(Bt &75) 650 i 1B
2o HAN RS
FRAAPKAREIAL T ¢ 100X ¢ 50 1 1 P
RYmF L
¢ 50X ¢20 1 1 P
RYmF LA
d50X ¢13 5 5 P
AH = AREE T, 650 2 2 | H
TR ¢ 50 2 2 8]
R F L BT & 50 1 1 8]
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+ T O & XK
BT HF FHET2 10X, PP ¢ 50AER TECEFI HER(H) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.86 + 0.060 + 0.1)=  0.56
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 087 - 03 - 0.16)=  0.23
HRAE (W) ORI (h1) TR
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.56 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 DX e 125 143.0 0.55 KD
10 |DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
BT P T2 T X PP ¢ 20A3% TR ERMH) = 065 m
PP ¢ 20 FEHHE (W) RKIRE (C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X ( 0.61 + 0.027 + 01)=  0.41
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.16)=  0.09
HRAE (W) WL (h1) TR
PR = 0.55 X 0.427 - 0.0006 = 0.23 m
PH T
FEAE T IE = 0.41 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME JEHINE D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
BT P T2 T X PP ¢ 13A3% TR a1 ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.61 + 0.022 + 0.1)=  0.40
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.16)=  0.09
HRAE (W) WL (h1) TR
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
FEAE T IE = 0.40 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - 3
15 |DGX ¢ 400 495.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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FTEFEHEET2 T X 5% (F/KE##HBN) PP ¢50,40,2520,13 &#t

s B K OV X

4 F HAx i B | A
[#] %

RYZF L g 7 ¢ 50 1.0+ 06 + 05 2.1 m

® 40 1.0+ 03 + 05 + 105 + 120 + 1.0 + 9.0 + 1.0 35.3 m

$25 7.0+ 17.0 + 4.8 28.8 m

¢ 20 0.9 + 1.5 2.4 m

$13 09 + 1.5 + 12 + 05 + 09 + 1.5 + 09 + 1.5 + 1.2 + 0.5 10.6 m

PP/ A ® 40 1.0 1 {8

PPEEE o] ¢ 50X ¢ 40 1 1 {8

40X ¢ 25 1 1 {8

PPEET—X 40X ¢ 20 1 1 {8

40X $13 3 3 {8

25X $13 2 2 {8

PPx/LR é 50 2 2 {8

® 40 2 2 {8

620 1 1 {8

$13 1+ 1 4+ 1 4+ 4] 5 {8

PV LR 620 1 1 {8

$13 1+ 1 4+ 1 4+ 4] 5 {8

BRIRFE & 40 0.5 + 105 + 12.0 + 1.0 + 9.0 + 1.0 34.0 m

$25 28.8 28.8 | m
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PTEFEHET2 T R {RE% (F/KEHBI) PP ¢$5040,25,20,13

i
7

5

5 CE s
P ke M B & OV 5 sK BB | wp
[F#] %

ARU=F LB T é 50 2.1 2.1 m

$ 40 35.3 35.3 m
¢ 25 28.8 28.8 m
¢ 20 2.4 2.4 m
613 10.6 10.6 m
Vi Fe K TR R
PPRETF T ¢ 50 1.0 0.0 4.0 0.0 5 &
ik F—X TR R
$ 40 4.0 8.0 4.0 0.0 16 &
ek F—X TR R
¢ 25 1.0 4.0 0.0 0.0 5 &
ik Fe K TR R
¢ 20 0.0 1.0 4.0 0.0 5 &
ik F—X TR R
613 0.0 5.0 - 20.0 0.0 25 &
AV F LR T ¢ 50 2.1 2.1 m
$ 40 35.3 35.3 m
¢ 25 28.8 28.8 m
¢ 20 2.4 2.4 m
613 10.6 10.6 m
W R
o5 PP ¢ 50 2.1 1.216 2.55 2.6 kg
M i
PP ¢ 40 35.3 0.788 27.82 27.8 kg
M it
PP ¢ 20 2.4 0.269 0.65 0.6 kg
M it 3
PP¢13 10.6 0.184 1.95 2.0 kg
&5 33.0 kg
IREVEZaVAN fiEgk M
EEEAT T T b 40 1 1.880 1.88 1.9 kg
PPEEE /b Ak Fi
¢ 50X ¢ 40 1 2.660 2.66 2.7 kg
PPELE roh fiEsk ot
¢ 40X ¢ 25 1 1.470 1.47 1.5 kg
PPESETF— X Ak Fi
40X ¢ 20 1 2.480 2.48 2.5 kg
PPESETF— X Ak Fi
40X ¢ 13 3 2.330 6.99 7.0 kg
PPEZEF—X sk Hohe
¢ 25X $13 2 0.970 1.94 1.9 kg
PP LR Ak s
¢ 50 2 3.170 6.34 6.3 kg
PP LR Ak s
¢ 40 2 2.155 4.31 4.3 kg
PPxLR %k R
¢ 20 1 0.490 0.49 0.5 kg
PP LR Ak s
¢ 13 5 0.340 1.70 1.7 kg
PVILAR HlaES ik
¢ 20 1 0.535 0.54 0.5 kg
PVITILR Ak s
¢ 13 5 0.365 1.83 1.8 kg
32.6 kg
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+ T O & XK
R B FH T2 L X, PP ¢ 501 LR a5 HER(H) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.8 + 0060 + 0.1)=  0.56
HRAE (W) HXRMHD WHEELN e
A = 0.55 x( 087 - 030 - 0.16)=  0.23
HRAE (W) WL (h1) TR
PR = 0.55 X 0.46 - 00028 = 0.25 m
PH T
FEAE T IE = 0.56 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
R B FH T2 L X, PP ¢ 501 LR a5 HFXR(H) = 030 m
PP ¢ 50 PEH R (W) FIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.26 + 0.060 + )= 0.18
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16 )= 0.06
HRAE (W) WL (h1) TR
WU = X - = i
PH T
FEAE T IE = 0.18 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
] B FHIT2 T X, PP ¢ 401 % T Bt ERMH) = 030 m
PP ¢ 40 FEHHE (W) RKIRE (C)
B (D2) 0.048 FEHIE (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X ( 0.26 + 0.048 + )= 0.17 i
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16)=  0.06 m
HRAE (W) WL (h1) TR
WOHE R = X - = i
PH T
7% L= 0.17 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 5 EOME 48
1 |PP¢13 21.5 0.55 W:| 5 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
PP ¢ 30
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - 3
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
] B FHIT2 T X, PP ¢ 201f% T 3t ERMH) = 030 m
PP ¢ 20 FEHHE (W) RKIRE (C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.26 + 0.027 + )= 0.16
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16 )= 0.06
HRAE (W) WL (h1) TR
IR B = - = i
PH T
7% L= 0.16 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME JEHINE D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
PP ¢ 50 60.0 0.55
7 |DGX¢ 75 90.0 0.55
8 |DGX ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |DGX ¢ 150 180.0 0.55
11 |DGX ¢ 200 250.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
B FHIT2 T X, PP ¢ 1345% TR et ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.26 + 0.022 + )= 0.15
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16)=  0.06
HIE (W) WIRFE (1) BRI
B = X - = i
PH T
7% L= 0.15 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 93.0 0.55
8 |HPE ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 169.0 0.55
11 |HPE ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < 3
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FTEFEHET3-1 TR AR (T/KEFHB) PP$50,30,13 B#,557

o 5 N
. st B D A Bt | i
[Epr] AER

ARz F Lo (7 ¢ 50 3.0 + 1.0 + 05 + 3.0 7.5 m
¢ 30 30.0 + 9.0 + 11.0 + 0.5 50.5 m
¢ 13 1.0 1.0 m
V7 M= ¢ 50 2 2 =S
T EE (1 5) | JWWA B 132 AH
HEY T
RB25 (K) 1
e
RA25 (A) 1
e
RC25(C) 1
JEhR
RS25 (P) 2l
MEP a1 b é 50 2 1
PR/ Ak ¢ 30 1
PVYAroh ¢ 13 1
PPESETF—RA 30X ¢13 1
PPEEEY b G 50X ¢30 1
HPE®
H R4 Ak 75X ¢ 50 1
DIP H
$ 100X ¢ 50 1
¢ 30 613
BHRT—7 150mm 50.5 1.0 m
= —H—k 1
HRAFyy T & 50 1
[#%] AR
AV F LB L ¢ 50 m
¢ 30 m
¢ 13 m
oo I AR R
PPk T é 50 0.0 0.0 2.0 r
oo I AR R
¢ 30 2.0 0.0 0.0 r
FeX AR R
613 1.0 0.0 0.0 r
BT — 7 sk m
AnsIE i )
(Bt &) $ 50 P
HPE®
FRAKEREIAL T 75X ¢ 50 P
DIP H
¢ 100X ¢ 50 P
AH=HNEFT é 50 r
TR ¢ 50 H
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+ T O & XK
R 95 FH RT3~ 1 T, PP ¢ 50A45% T A it & ERMH) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.86 + 0.060 + 0.1)=  0.56
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 087 - 03 - 0.16)=  0.23
BaAE (W) HHABTE () A
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.56 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
R BF FHIET3-1 T.X PP ¢ 30AK5% TH ERtE ERMH) = 065 m
PP ¢ 30 PEH R (W) FIRE(C)
B (D2) 0.042 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 061 + 0.042 + 0.1)= 041
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.16)=  0.09
HRAE (W) WL (h1) TR
PR = 0.55 X  0.442 - 0.0014 = 0.24 m
PH T
FEAE T IE = 0.41 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME JEHINE D2:| 4 EOME 42
1 |PP¢13 21.5 0.55 W:| 4 P H 0.55
2 |PP ¢ 20 27.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T B R
R 97 FH T3~ 1 T, PP ¢ 13AG% LA G E ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
EHE(D2) 0.022 PR (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.61 + 0.022 + 0.1)=  0.40 m
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.16)=  0.09 i
HRAE (W) WL (h1) TR
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
FEAE T IE = 0.40 m
KAE K (H) 1, SEREEHIBRF Ho

D2: B E—ER ()

X5 g D2:| 1 B 21.5
W[ 1 JEH 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < 3
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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FTE7EHET6 T X AR (T/KE##HBI) PP 50,30,13 E#, FHi%

s B K OV X

4 ks o
[Epr] Ak
ARYxF LA ¢ 50 45 + 1.0 55 m
¢ 30 25.5 + 23.8 49.3 m
¢ 13 1.0 1.0 m
V7 M= ¢ 50 1 1 =S
HADFHE (IELE) [ JWWA B 132 ] 1 2l
HEY T
PR25 (K) 2 2 1
pEE
RA25 (A) 1 1 1
[k
RC25(C) 1 1 &
JEhR
RS25 (S) 1 1 HH
MPYaA b ¢ 50 1 + 1 2 {El
PREEE rob ® 50X ¢ 30 1 1 &
PVYAroh ¢ 13 1 1 1
PPESETF—RA & 30X13 1 1 &
DI
YR kiR $ 100X ¢ 50 1 1 1
¢ 50 ¢ 20 613
B 7R —7 150mm 55 4+ 493 + 1.0 55.8 m
= —H—kt 3 3 1
HRAFry 7 ¢ 30 1 1 &
[#%] Ak
AU F L EAEE L ¢ 50 5.5 5.5 m
$ 30 49.3 49.3 m
613 1.0 1.0 m
ek F—X TR R
PR T ¢ 50 1.0 + 00 + 00 + 1.0 2 o
ek F—X TR R
$ 30 1.0+ 20 + 00 + 0.0 3 O
VA Fe X AR v
613 20 4+ 1.0 + 0.0 + 0.0 3 O
B R — 7 % 55.8 55.8 m
(RIS )
(Bt &) ¢ 50 1 1 =10
5 RAN
FRAAKAREIAL T ¢ 100X ¢ 50 1 1 P
AT = HVHET T ¢ 50 2 2 i1
TR ¢ 50 2 2 8]
R F L BT & 50 1 1 8]
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+ T O & XK
BT By FHINT6 L [X, PP ¢ 50AE% L ECEFTHE ERMH) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.8 + 0.060 + 0.1)=  0.53
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.87 - 03 - 017)=  0.22
BaAE (W) HHABTE () A
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.53 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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+ T O & XK
BT [T 6 L X, PP ¢ 30A3% TR E1 e ERMH) = 065 m
PP ¢ 30 PEH R (W) RKIRE(C)
B (D2) 0.042 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.55 + 0.042 + 0.1)= 0.38
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.62 - 030 - 0.17)=  0.08
HRAE (W) WL (h1) TR
PR = 0.55 X 0.44 - 00014 = 024 m
PH T
FEAE T IE = 0.38 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME JEHINE D2:| 4 EOME 42
1 |PP¢13 21.5 0.55 W:| 4 P H 0.55
2 |PP ¢ 20 27.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT FEHT6 11X, PP ¢ 13A3% T a1 ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 055 + 0.022 + 0.1)=  0.37
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.17)=  0.08
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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R E7EHET6 T X {RE% (T /KE##BI) PP¢50,30,13 E# -Hi%

5 17 sk
P ke M B & OV 5 sK ¥ | w
[Epr] RE%

ARYxF LA ¢ 50 1.0 + 06 + 0.5 2.1 m

¢ 30 0.5 + 0.3 + 245 + 23.8 49.1 m
¢ 13 0.5 + 1.2 1.7 m
PP LR ¢ 50 2 2 fi&
¢ 30 2 2 1
$13 1 1 &
PV 613 ] 1 fi&
PPEEEY ok 50X ¢ 30 1 1 1A
PPEETF —X & 30X13 1 1 1A
BRIRE ¢ 30 48.3 48.3 m
[#%] IRE%
ARU=F LB T & 50 2.1 2.1 m
$ 30 49.1 49.1 m
613 1.7 1.7 m
ek F—X TR R
PPAET T é 50 1.0+ 00 + 4.0 + 0.0 5 8]
ek F—X TR R
$ 30 1.0+ 20 + 40 + 0.0 7 o
ik Fe K TR R
613 0.0 + 1.0 + 4.0 + 00 5 o
AV F LR T $ 50 2.1 2.1 m
$ 30 49.1 49.1 m
13 1.7 1.7 m
= Er
BT 5% PP ¢ 50 21 X1.216 = 2.55 2.6 | kg
= E
PP ¢ 30 49.1 X 0.595 = 20.21 29.2 kg
e Er
PP 13 1.7 X0.184 = 0.31 0.3 kg
32.1 kg
PPxLR Ak Ei
JEFERI T ¢ 50 2 X3.170 = 6.34 6.3 kg
PPxLR Ak Eie
$ 30 2 X1.470 = 2.94 2.9 kg
PPxLIR fisk ih 3
613 1 X0.340 = 0.34 0.3 kg
PVILR Ak Ei
613 1 X0.365 = 0.37 0.4 kg
PPELR Y roh fiFsk s
& 50X ¢ 30 1 X2.370 = 2.37 2.4 kg
PPESETF— X Ak Eie
$30X13 1 X1.610 = 1.61 1.6 kg
14.0 kg
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+ T O & XK
BT By FHINT6 L [X, PP ¢ 50{ia% L ECEFHE ERMH) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 080 + 0060 + 0.1)=  0.53
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.87 - 030 - 0.17)=  0.22
HRAE (W) WL (h1) TR
PR = 0.55 X 0.46 - 00028 = 0.25 m
PH T
FEAE T IE = 0.53 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
BT By FHINT6 L [X, PP ¢ 50{ia% L ECEFHE HFXR(H) = 030 m
PP ¢ 50 PEH R (W) FIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.2 0.060 + )= 0.14
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - 0.17)= 0.06
HRAE (W) WL (h1) TR
AL = = nt
PH T
FEAE T IE = 0.14 n
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
BT 7 FHINT6 11X, PP ¢ 30{ia% L ECE R ERMH) = 030 m
PP ¢ 30 PEH R (W) FIRE(C)
B (D2) 0.042 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.2 + 0.042 + )= 0.13
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.17)= 0.06
HRAE (W) WL (h1) TR
WL 5 = X - = i
PH T
7% L= 0.13 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 4 EOME 42
1 |PP¢13 21.5 0.55 W:| 4 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
PP ¢ 30
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - 3
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10

176




€0 e 660 050 wo,T=1 ‘0p-0d TERSE L
€0 el GG'0 050 wog=—1 ‘S T EE
€0°0 w 0D 00
€0°0 u 01°0 0€°0 0D [ign A1
o wm 01°0 RS
0] w 050 AN +HE@ [ -74
€0°0 u 050 X 900 0%~ LA R
[0 w 060 X 2gI'0 T E Gl L
€0 e GG'0 X 060 A yauwoQr=1 ‘0D [T 0xHY
01 w 002 X 0S°0 Jyquogr=1 ‘o) Rk

EXETXEXECT ¢ dd T 9Lm H £ [ o Sk W7

=TI ) = VA
VAR g0 o =TT er o dd

177




+ T O & XK
BT FEHT6 L X, PP ¢ 130a% T a1 ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.2 + 0.022 + )= 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.17)=  0.06
HIE (W) WIRFE (1) BRI
AL = x - = nt
PH T
7% L= 0.12 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
PP ¢ 50 60.0 0.55
7 |DGX¢ 75 90.0 0.55
8 |DGX ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 [DGX ¢ 150 180.0 0.55
11 |DGX ¢ 200 250.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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EFEHRET7-1 TR AR

(F/KEHBI) PP@®5040 E#,F5

s B K OV X

4 ks o
[Epr] Ak
ARYxF LA ¢ 50 2.0 + 1.0 3.0 m
¢ 40 20.5 + 15.5 + 2.0 + 0.55 38.6 m
V7 M= ¢ 50 1 1 =S
I E (ELE) [ JWWA B 132 1 . @
HEY T
PR25 (K) 2 2 1
LA
RA25 (A) 1 1 1
[k
RC25(C) 1 1 &
JEhR
RS25 (S) 1 1 HH
MPYaA b ¢ 50 1 + 1 2 {El
PREEE rob ® 50X ¢ 40 1 1 &
PP $ 40 ] 1 fi&
PV AR $ 40 ] 1 fi&
DIPF
NGy KRR $ 100X ¢ 50 1 1 1A
& 50 ¢ 40 S7EY
B ms—7 150mm 3.0 + 386 - 0.55 41.0 m
4t 2 2 18
HRAFry 7 ¢ 40 1 1 &
[#%] Ak
HUmF LB T ¢ 50 3.0 3.0 m
& 40 38.6 38.6 m
ek F—X TR R
PR T ¢ 50 1.0 + 00 + 00 + 1.0 2 o
ek F—X TR R
& 40 1.0 + 00 + 40 + 0.0 5 O
WT‘7~/°%H;;< I 41.0 41.0 m
fi DJ#P;&E” )
(B > ¢ 50 1 1 T
5 RAN
FRAAKAREIAL T ¢ 100X ¢ 50 1 1 P
AT = HVHET T ¢ 50 2 2 i1
TR ¢ 50 2 2 8]
AV F L FYE T ¢ 50 1 ] O

179




61°0 u 0°g8 X w oL X w/1 €z20°0
61°0 61°0 u T - ARG
0922 £z 1 060z + 0L wo =1 ‘0F-0 TR
0922 £z 1 0602 + 0L'1 wog=1 Sy, TR
0£°2 4 w 0z + 020 D LR
0£°2 4 IS 0z + 020 0D Y T
00°91 0% i OFFI  + 091 T 5
00°91 0% u OFFI  + 091 THM HECT F 3%
06'6 01 i 0’6 + 0890 al T K
0L°¢ b u 00 + 0.0 or—0¥ T K
00791 072 w orvT +  09°1 FH I (16
09°2% €z w 0602 + OL°1 A Yqwopr=1 ‘00 | T UEGxI YRy
00°28 08 w 009 + 009 A yquogy =1 ‘o) TRy
or P 05 9
dd dd
oo |® ow || EHHEERTT EY (EEEON L) X120 H £ o O W%

180



w G0 00°€ wo LT =1 ‘0p-08 LERA
i G0 00°€ wog=1 SV & T
o 0D ANt
w 0r°0 0L'1 0D [iEsn et
w 09°1 AN
w €50 X 00°€ FH M %
18 62’0 X 00°€ it T @
w 220 X 00°€ 07-0u R R
w €6°0 X 00°€ FE G LR
u 660 X 00°€ A yguwoor=1 ‘0D [TF O N
w 00°% 00°€ A yqwog=1 ‘o) Rk

HAEER T V0S¢ dd X T 1- LIy H 4 I SR 4

= VAR ) =V
VAR o =T1ET 0S ¢ dd

181




+ T O & XK
R S5 FH T 71 T, PP ¢ 50A43% T it & ERMH) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.8 + 0.060 + 0.1)=  0.53
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.87 - 03 - 017)=  0.22
BaAE (W) HHABTE () A
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.53 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
BT FEHT6 L X, PP ¢ 40A3% TR a1 ERMH) = 065 m
PP ¢ 40 FEHHE (W) RIE(C)
B (D2) 0.048 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 055 + 0048 + 0.1)=  0.38
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.62 - 030 - 0.17)=  0.08
HRAE (W) WL (h1) TR
PR = 0.55 X 0.45 - 00018 = 0.24 m
PH T
FEAE T IE = 0.38 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 5 EOME 48
1 |PP¢13 21.5 0.55 W:| 5 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
PP ¢ 30
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FIE7 BT 7-1 TR{RER (T/KEFEBI) PP 50,40 E#, FHi%

s s

FAEEY

4 ks o
[Epr] RE%
AT L7 ¢ 50 1.0 + 06 + 05 2.1 m
¢ 40 1.0+ 03 + 195 15.5 1.5+ 0.3 + 0.9 41.0 m
PREEE rob ® 50X ¢ 40 1 1 18
PP LR ¢ 50 2 2 fi&
¢ 40 2+ 2 o+ 1 5 1
RVES N &40 ] 1 fi&
PRIE R & 40 37.0 37.0 m
[#%] IRE%
Ao F L ERE T ¢ 50 2.1 2.1 m
¢ 40 41.0 41.0 m
ek F—X TR R
PR T ¢ 50 1.0+ 0.0 + 4.0 0.0 5 o
ek F—X TR R
¢ 40 1.0+ 0.0 + 120 0.0 13 o
AU F LR T ¢ 50 2.1 2.1 m
¢ 40 41.0 41.0 m
R fifi
FESSE PP ¢ 50 2.1 X1.216 = 2.55 2.6 kg
R it
PP ¢ 40 41.0 X 0.788 = 32.31 32.3 kg
34.9 kg
PPELE roh Ak Ei
JEEERT T & 50X ¢ 40 1 X2.660 = 2.66 2.7 kg
PPxLR Ak Ei
¢ 50 2 X3.170 = 6.34 6.3 kg
PPxLR fiEds
6 40 5 = 10.78 10.8 kg
PV LR fiEdk
¢ 40 1 = 2.15 2.2 kg
21.9 kg

185




L00°0 u g e p0°0 w/1 €z20°0
L00°0 L00°0 u T - ARG
0£°2 4 1 0F'T 0£°0 09°0 wo =1 ‘0F-0 TR
0£°2 4 1 0F'T 0£°0 09°0 wog=1 SV, & T
61°0 20 w 01°0 €0°0 90°0 D LR
61°0 20 IS 01°0 €0°0 90°0 0D Y T
00°T [ i 0%°0 01°0 0570 T
00°T [ u 0%°0 01°0 0670 FH M T K
0£°0 €0 i 0£°0 il T K
€80 €0 u 01°0 €0°0 02°0 ov—0¥ T K
00'1 [ w 0F°0 01°0 050 FH I (16
0£°2 4 oy 0F'1 0€°0 09°0 A yquogr=1 ‘00 | T UEGxEHYELY
008 8 w 00°G 00'1 002 A yquogy =1 ‘o) TRy
07 @ 05 05 9
dd dd dd
oo |w ow || EHHEERTT Y (EEEON L) X120 H £ o o WA W%

186



uw 6G'0 X 001 woLT=1 ‘0p-0d R
A G50 X 001 wog=1 Sy TLE(E
w Se) VALt
u 0o X 090 0D g4
mu 05°0 U
u 001 X €50 FHql TEC 3%
w G20 X 001 t T3 Wil
u 00T X 220 0v-0 T Wil
% 00T X €50 T H M N1
w 6G'0 X 001 A yFwopT=1 ‘00 | L ¥ GUTLY PR
w 002 X 001 A yqwogr=1 ‘o) LG FRES

HHEERT RS Pdd XTI Dammvﬁmg 7o oW oA | w2

=VEFRIE L) = VARG
VAR =153 0S¢ dd

187




+ T O & XK
R 95 FH T 71 T, PP ¢ 501K % T st & ER) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 080 + 0060 + 0.1)= 053
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.87 - 030 - 0.17)=  0.22
HRAE (W) WL (h1) TR
PR = 0.55 X 0.46 - 00028 = 0.25 m
PH T
FEAE T IE = 0.53 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
R 95 FH T 71 T, PP ¢ 501K % T st & ERMH) = 030 m
PP ¢ 50 PEH R (W) FIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.2 0.060 + )= 0.14
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - 0.17)= 0.06
HRAE (W) WL (h1) TR
WO R = = m
PH T
FEAE T IE = 0.14 n
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & R
B[ EF FHIT7-1 X, PP ¢ 40(R % T ERE A ERH) = 030 m
PP ¢ 40 FEHHE (W) RKIRE (C)
B (D2) 0.048 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.2 0.048 + )= 0.14
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - 0.17)=  0.06
EHE (W) BRI (h1) B
WO R = = m
PH T
7% L= 0.14 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 5 EOME 48
1 |PP¢13 21.5 0.55 W:| 5 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
PP ¢ 30
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < 3
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FIEF BT 7-3 TR AR (T/KEFEBI) PP ¢ 25,13 E#, FiF

s B K OV X

Za Hikg BB | B
[E#] AR
ARYxF LA ¢ 25 50 + 5.5 10.5 m
¢ 13 1.0 1.0 m
PPEEET—X 40X ¢ 25 1 1 {8
25X $13 1 1 {8
PV Aok 613 1 1 {8
b 25 613
BrF—7 150mm 105 + 1.0 11.5 m
= —H—4 2 2 &
[F#] AR
AT L BT $ 25 10.5 10.5 m
613 1.0 1.0 m
ik F—X TR R
PPHET T2 $ 40 0.0 + 20 + 0.0 + 0.0 2 u]
ik F—X TR R
¢ 25 0.0 + 3.0 + 0.0 + 0.0 3 u]
ik Fe K TR R
¢ 13 20 + 1.0 + 00 + 0.0 3 m]
BR7T— 7 ik 11.5 11.5 m
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+ T O & XK
R B FHIET7-3 T.X PP ¢ 25 AK5% T A ERtE ERH) = 065 m
PP ¢ 25 FEHHE (W) RIE(C)
B (D2) 0.034 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.55 + 0.034 + 0.1)= 0.38
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.17)=  0.08
HRAE (W) ORI (h1) TR
PR = 0.55 X 0.434 - 0.0009 = 0.24 m
PH T
FEAE T IE = 0.38 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 3 EOME 34
1 |PP¢13 21.5 0.55 W:| 3 P H 0.55
2 |PP ¢ 20 27
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 |HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |DGX ¢ 250 271.6 0.60 =
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
R B FHIT7-3 T.X PP ¢ 13AK5% T ERHE ERH) = 065 m
PP ¢ 13 FEHHE (W) RIE(C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.55 + 0.022 + 0.1)=  0.37
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.62 - 030 - 0.17)=  0.08
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.42 - 00004 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FIE7 BT 7-3 TR {RER (T/KEFEBI) PP ¢ 25,13 E#, Fi%

4 ks o
[Epr] RE%
RY=F L4 ¢ 25 50 + 55 10.5 m
¢ 13 1.0 + 0.9 1.9 m
PRPREEET—X $40X ¢ 25 1 1 1
625X ¢13 1 1 1
PP 613 ] 1 fi&
RVES N 613 ] 1 fi&
PRIE R $ 25 9.5 9.5 m
[#%] IRE%
Ao F L ERE T & 25 10.5 10.5 m
¢ 13 1.9 1.9 m
ik F—X TR R
PPAET T ¢ 40 0.0 + 2.0 0.0 0.0 2 o
ik F—X TR R
¢ 25 0.0+ 3.0 0.0 0.0 3 o
ik Fe K TR R
613 0.0 + 1.0 4.0 0.0 5 o
AU F LR T $ 25 10.5 10.5 m
613 1.9 1.9 m
e i
FESSE PP ¢ 25 10.5 X 0.423 4.44 4.4 kg
e Er
PP 13 1.9 X0.184 0.35 0.3 kg
4.8 kg
PPESETF— X Ak Hone
JEFERI T $ 40X ¢ 25 1 X2.660 = 2.66 2.7 kg
PPEEETF— X Ak Ein
$25X $13 1 X0.970 0.97 1.0 kg
PPxLR fiFsk Hone
613 1 X0.340 0.34 0.3 kg
PVILR Ak Ei
613 1 X0.365 0.37 0.4 kg
4.3 kg
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+ T K & K
R B FHIT7-3 T.1X PP ¢ 251k sk T EatE ERH) = 030 m
PP ¢ 25 FEHHE (W) RIE(C)
B (D2) 0.034 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.20 + 0.034 + )= 0.13
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 ~ - 0.17)=  0.06
HIE (W) WIRFE (1) BRI
B = X - = i
PH T
g L= 0.13 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 3 EOME 34
1 |PP¢13 21.5 0.55 W:| 3 P H 0.55
2 |PP ¢ 20 27
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
BT By FHINT6 L [X, PP ¢ 50{ia% L ECEFHE ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.2 + 0.022 + )= 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.17)= 0.06
HRAE (W) WL (h1) TR
WU = X - = i
PH T
g L= 0.12 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FIEFEABIS T X AR (F/KEHEEBN) HPE@® 75PP ¢ 50,2513 &#, 55

s B K OV X

% W bsikics BB | e
[Epr] Ak
EFEE DA EE 675 1.0 1.0 EN
RYzF LS ¢ 50 1.0 1.0 m
& 25 0.3 + 27.0 + 4.0 + 15.1 46.4 m
¢ 13 1.5 + 7.5 9.0 m
PREEE rob & 50X ¢ 25 1 1 &
PPREET—X $25X ¢ 13 1+ 1 2 1A
PPaLR $ 25 1 1 &
PV Ay b 613 1+ 1 2 &
PVYaAf bk 75X ¢ 50 1 1 1
75 & 50 ¢ 25 $ 13
BHRT—7 150mm 1.0 + 1.0 + 464 + 9.0 57.4 m
4t 5 5 18
[#%] Ak
Ao F L ERE T 675 1.0 1.0 m
é 50 1.0 1.0 m
¢ 25 46.4 46.4 m
¢ 13 9.0 9.0 m
o
BT 675 1.0 1 o
ek F—X TR R
PPAEF 1 é 50 1.0+ 00 + 0.0 + 0.0 1 o
ek F—X TR R
¢ 25 1.0+ 40 + 2.0 + 0.0 7 o
ik F—X TR R
613 40 + 20 + 0.0 + 0.0 6 o
AYTFLL R —7 B T ¢ 75 1.0 1.0 m
R — 7 ik L 57.4 57.4 m
AT = HVHET T ¢ 75 1 1 i1
& 50 1 1 O
=k
R F L BT 675 1 1 8]
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+ T O & XK
B B [HET8 T [X, HPE ¢ 7T5A5% T4 a5 ERMH) = 090 m
HPE ¢ 75 FEHHE (W) RIE(C)
B (D2) 0.090 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.86 + 0.090 + 0.1)= 0.8
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 087 - 03 - 0.16)=  0.23
HRAE (W) ORI (h1) TR
PR = 0.55 X 0.490 - 0.0064 = 0.26 m
PH T
g L= 0.58 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5y gOHE B e D2:| 7 EHME 90
1 |PP¢13 21.5 0.55 W:| 7 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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+ T O & XK
BT [ T8 LK, PP ¢ 504, TR a e ERMH) = 090 m
PP ¢ 50 PEH R (W) FIRE(C)
EHE(D2) 0.060 PR (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.86 + 0.060 + 0.1)=  0.56
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.87 - 03 - 0.16)= 0.23
BaAE (W) WHEEE (h1) A
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
B = 0.56 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EIME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
BT [ T8 LK, PP ¢ 25 A3% T a1 ERMH) = 065 m
PP ¢ 25 FEHHE (W) RKIRE (C)
EHE(D2) 0.034 JEHIE (W) 0.55 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.86 + 0.034 + 0.1)= 055
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.16)=  0.09
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.434 - 0.0009 = 0.24 m
PH T
B = 0.55 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2: EHME 34
1 |PP¢ 13 21.5 0.55 W: P H 0.55
2 _|PP ¢ 20
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - 3
15 |DGX ¢ 400 495.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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+ T O Em XK
BT [ T8 L X, PP ¢ 1343% T a1 ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 0.55 m
e (W) B (H) NS it
H &= 0.55 x( 1.17 + 0.022 + 0.1)= 0.71
HRAE (W) FRMH) WHEER B
eaE R = 0.55 x( 1.17 - 03 - 0.1)= 042
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
7% L= 0.71 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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FTEFEHETS T XN E% (/K EH#BN) PP 92513 &M, 7%

s B K OV X

4 ks o
[Epr] RE%
AT L ¢ 25 0.5 + 1.5 + 285 4.0 + 15.1 49.6 m
¢ 13 1.5 4+ 09 + 7.0 0.9 10.3 m
PPREET—X $25X ¢ 13 1+ 1 2 1A
PPxLR & 25 1+ 1 2 1A
613 1+ 1 2 1
PV Ay b 613 1+ 1 2 &
EFF%w 7 & 75 1 1 &
HPEH
HRLSy AR & 75X ¢25 1 1 1
[#%] IRE%
Ao F L ERE T & 25 49.6 49.6 m
613 10.3 10.3 m
ik Fe K TR R
PPHET T ¢ 25 0.0 + 4.0 + 4.0 1.0 9 8]
ik F—X TR R
613 40 + 2.0 + 4.0 0.0 10 o
Hpor S
BT 675 1.0 1 o
RYmF L
BRAAARKREIAL T 975X ¢25 1.0 1 )
AV F LR T $ 25 49.6 49.6 m
¢ 13 10.3 10.3 m
= i
B PP ¢ 25 49.6 X 0.423 = 20.98 21.0 kg
e Er
PP 13 10.3 X 0.184 = 1.90 1.9 kg
22.9 kg
PPREZEF—X Ak Ein
JEFERI T 625X $13 2 X0.970 = 1.94 1.9 kg
PP LR Ak Fi
¢ 25 2 X0.720 = 1.44 1.4 kg
PP LR Ak Ei
613 2 X0.340 = 0.68 0.7 kg
PV ok fiEEx L
613 2 X0.375 = 0.75 0.8 kg
4.8 kg
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+ T K & K
BT [ T8 LXK, PP ¢ 261 a% T a1 ERMH) = 030 m
PP ¢ 25 FEHHE (W) RIE(C)
B (D2) 0.034 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.26 + 0.034 + )= 0.16
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 ~ - 0.16)=  0.06
HIE (W) WIRFE (1) BRI
B = X - = i
PH T
g L= 0.16 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 3 EOME 34
1 |PP¢13 21.5 0.55 W:| 3 P H 0.55
2 |PP ¢ 20 27
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT P T8 L X, PP ¢ 13a% T RceE e ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.26 + 0.022 + )= 0.15
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16)=  0.06
HIE (W) WIRFE (1) BRI
WU = X - = i
PH T
g L= 0.15 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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K#3THITRAR(T/KEMB) PP)20 &M 775

s B K OV X

4 ks o
[Epr] AER
RYxzF L g7 ¢ 20 55 + 30,0 + 45 + 1.0 41.0 m
PR/ Aok ¢ 20 1+ 1 2 1
PPaLR ¢ 20 1 1 1
PV Aroh ¢ 20 1 1 1
DIPH
H RSy AR 675X ¢20 1 1 1
¢ 20
BHRT—7 150mm 41.0 41.0 m
—H—h 2 2 1A
[#%] AR
Ao F L ERE T ¢ 20 41.0 41.0 m
pLiai FeZ TR R
PPfEE T é 20 6.0 + 0.0 + 2.0 + 1.0 9 r
BT —7 kL 41.0 41.0 m
2R AN
FRAKEREIAL T 75X ¢20 1 1 BB
AU F L BT 20 1 1 8]
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+ T O & XK
K3 T H3 LI, PP ¢ 2088 THRGH ERMH) = 090 m
PP ¢ 20 FEHHE (W) RIE(C)
B (D2) 0.027 FEHIE (W) 0.55 + = 0.55 m
EHE (W) ERHED EAE B
Yt E= 0.55 x( 0.86 + 0.027 + 0.1)=  0.54 i
HRAE (W) HXRMHD WHEELN e
AR = 0.55 X ( 087 - 03 - 016)= 023 0
EHE (W) B (n1) B
PR = 0.55 X 0.427 - 0.0006 = 0.23 m
PH T
FEAE T IE = 0.54 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
ES%) E Tl BOME JEHIIE D2:| 2 EHME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 [DCX 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 DX e 125 143.0 0.55 KD
10 |DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 |DNS ¢ 450 476.8 1.10

224




€0 e 660 X 050 wogr =1 ‘0p-0Y T B
€0 w G6'0 X 0S50 Wog =1 Sy kt L
10°0 w sV O
[0°0 w P00 X 0£0 sV T 2
20 o 02°0 L
20 w 00 X 0F0 FHEA TSR RE T
['o o 0S°0 X €2°0 G T @
600 oy 050 X 600 0F-04 T Rl
20 w 050 X 0F0 TH@ TLIH
€0 e GG'0 X 050 A yawoor=1 sy | TG R
01 w 00z X 050 Jyquogr=1 ‘sy TllEE

¥ A HHEERTEYCIOdd X TEH Lea R N

= VAR wo; =VE(MH>G
K =H> &, w =1 er e dd

C =VAERERS - AR

225




+ T O & XK
KA T H 3 LIX,PP ¢ 134G LR R ERH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
EHE(D2) 0.022 JEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.61 + 0.022 + 0.1)=  0.40
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.16)=  0.09
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
B = 0.40
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
¥ = D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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K#3THITRIRER(T/KEMBI) PP)20 &M 775

s B K OV X

4 ks o
[Epr] AER
R F L7 $ 20 0.5 + 0.5 34.0 + 05 + 09 36.4 m
PP LR ¢ 20 1 + ] 1 + 1 4 1A
PV AR ® 20 ] 1 fi&
BRI ¢ 20 34.0 34.0 m
[#%] AER
AV F LB L é 20 36.4 36.4 m
ik Fe K TR R
PPfEE T é 20 0.0 + 0.0 10.0 + 0.0 10 r
AU F LR T ¢ 20 36.4 36.4 m
HEE it
BIS5E PP ¢ 20 36.4 X 0.269 = 9.79 9.8 kg
PPxLR Ak Ei
JEEERT T 620 4 X 0.490 1.96 2.0 kg
PVIE/LR i kit
¢ 20 1 X0.535 = 0.54 0.5 kg
2.5 kg
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+ T O & XK
FAH3T H3TIX,PP ¢ 20K % LR H ERH) = 065 m
PP ¢ 20 FEHHE (W) RIE(C)
EHEE(D2) 0.027 HE I E (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.6l + 0027 + 0.1)= 0.4l
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 062 - 030 - 0.16)=  0.09
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.43 - 00006 = 0.23 m
PH T
B = 0.41 i
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 2 HHN 27
1 [PP¢13 21.5 0.55 W:| 2 Ei 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
FAH3T H3TIX,PP ¢ 20K % LR H ERH) = 030 m
PP ¢ 20 FEHHE (W) RKIRE (C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.26 + 0.027 + )= 0.16
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16 )= 0.06
HRAE (W) WL (h1) TR
WU = X - = i
PH T
FEAE T IE = 0.16 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 2 EOME 27
1 |PP¢13 21.5 0.55 W:|[ 2 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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K#4THATRXRARER (T/KEHB)) PP$50,20,13 &#

s B K OV X

4 ks o
[Epr] AER
AT L7 ¢ 50 3.5 + 1.0 + 250 + 250 + 135 68.0 m
¢ 20 0.5 + 05 1.0 m
$13 2.0 + 2.0 4.0 m
V7 M= ¢ 50 1 1 =S
B (L E) | JWWA B 132 ] 1 2l
HEY T
PR25 (K) 2 2 1
pEE
RA25 (A) 1 1 1
e
RC25(C) 1 1 &
JEhR
RS25(S) 1 1 2l
MEY a1 b ¢ 50 2 2 &
PR/ Aok ¢ 50 1+ 1+ 1 3 1
PVYAroh ¢ 20 1+ 1 2 1
613 1+ 1 2 1
DIPH
HRAAy AR $ 150X ¢ 50 1 1 18
PPH
H RSy AR ¢ 50X ¢20 1+ 1 2 1
$50X $13 1+ 1 2 &
é 50 & 20 13
B ms—7 150mm 68.0 + 1.0 + 4.0 73.0 m
~—dr—Hi 5 5 |
PR Fyy 7 ¢ 50 1 1 &

233




K#4T BATXARER (F/KEHBI) PP ¢50,20,13

o

2SI

kg

s B K OV X

BB | e
[#%] AER
AV F LB L ¢ 50 68.0 68.0 m
¢ 20 1.0 1.0 m
613 4.0 4.0 m
pLiai FeZ TR R
PR T ¢ 50 6.0 + 0.0 + 0.0 + 1.0 7 £
pLiai FeZ TR R
¢ 20 40 + 00 + 00 + 20 6 r
pLiai FeZ TR R
613 40 + 00 + 00 + 20 6 r
BT —7 ekl 73.0 73.0 m
AnsIE i
(Bt &75) 650 ) L BiR
2B AN
FRAIKAREIAL T ¢ 150X ¢ 50 1 1 BB
RY=F L
50X ¢20 2 2 BB
RI=F L
$50X ¢13 2 2 BB
AH =TT, 650 2 2 | H
TR ¢ 50 2 2 8]
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+ T O & XK
Kpa T HATIX, PP ¢ b0 L EE HER(H) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.86 + 0.060 + 0.1)=  0.56
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 087 - 03 - 0.16)=  0.23
HRAE (W) ORI (h1) TR
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.56 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 DX e 125 143.0 0.55 KD
10 |DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
KA T H4 TIX,PP ¢ 20458 LR R ERMH) = 065 m
PP ¢ 20 FEHHE (W) RKIRE (C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X ( 0.61 + 0.027 + 01)=  0.41
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.16)=  0.09
HRAE (W) WL (h1) TR
PR = 0.55 X 0.427 - 0.0006 = 0.23 m
PH T
FEAE T IE = 0.41 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME JEHINE D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
KB4 T H4 TIX,PP ¢ 134K LHEEH ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.61 + 0.022 + 0.1)=  0.40
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.16)=  0.09
HRAE (W) WL (h1) TR
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
FEAE T IE = 0.40 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - 3
15 |DGX ¢ 400 495.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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K#4T BAT X% (F/KEHBI) PP ¢50,20,13

&M

s B K OV X

4 Hikg OB | wr

[E#] AR
RYxF L7 & 50 1.0+ 06 + 05 + 03 + 250 + 2.0 + 375 66.9 m
¢ 20 05 + 0.9 + 20 + 09 4.3 m
613 20 + 09 + 09 + 05 4.3 m
PPx/LAR & 50 2 4+ 2 + 1 o+ 1 6 &
¢ 20 1+ 1 2 &
$13 1+ 1 2 {8
PR ¢ 20 1+ 1 2 {8
$13 1+ 1 2 {8

PP

RSy KER $ 50X ¢ 20 1+ 1 2 {8
$50X ¢ 13 1+ 1 2 &
PRI $ 50 64.5 64.5 m
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K#4T BAT X% (F/KEHBI) PP ¢50,20,13

S
W

s B K OV X

4 B Hks L SR
[5%5] Al
Rz F L EmR T ¢ 50 66.9 66.9 m
¢ 20 4.3 4.3 m
613 4.3 4.3 m
ik Fe K TR R
PPRETF T ¢ 50 0.0 0.0 12.0 + 0.0 12 &
ik Fe K TR R
¢ 20 0.0 0.0 8.0 + 2.0 10 &
ik Fe K TR R
613 0.0 0.0 8.0 + 2.0 10 &
AV F LR T ¢ 50 66.9 66.9 m
¢ 20 4.3 4.3 m
613 4.3 4.3 m
RY=F L
FRAARAREAL T ¢ 50X ¢ 20 2 2 T
RYmF LA
$50X ¢ 13 2 2 T
e R
o5 PP ¢ 50 66.9 1.216 81.35 81.4 kg
e R
PP ¢ 20 4.3 0.269 1.16 1.2 kg
e R
PP¢13 4.3 0.184 0.79 0.8 kg
83.3 kg
PPxLR fiFhk Hone
EEEAT T T $ 50 6 3.170 19.02 19.0 kg
PPxLR fiFhk Hone
¢ 20 2 0.490 0.98 1.0 kg
PPxLR fiFhk Hone
¢ 13 2 0.340 0.68 0.7 kg
PVILAR HlaE ik
¢ 20 2 0.535 1.07 1.1 kg
PVITILR Ak s
¢ 13 2 0.365 0.73 0.7 kg
22.5 kg
HSRILAy kR Ak s 3
BRI T T ¢ 50X ¢ 20 2 2.000 4.00 4.0 kg
HRILAy Kk Ak fiinid
¢ H0X 913 2 1.700 3.40 3.4 kg
7.4 kg

243



210°0 uoogr X e p0°0 w/1 €z20°0
210°0 1070 u T - ARG
0L°¢ b 1 oF'1T  +  OFI 0£°0 09°0 wog =1 ‘0F-0 TR
0L°¢ b 1 oF'1T  +  OFI 0£°0 09°0 wog=1 Sy, T
61°0 20 w 900 + 010 10°0 2070 sV LR
61°0 20 w 900 + 010 [0°0 20°0 sV T B3
05T 4 i 0F0 + 0F0 01°0 09°0 T
05T 4 u 0F0 + 0F0 01°0 09°0 FH M HECT F 3%
0£°0 €0 i + 0£°0 il T K
8G°0 [ u SI'0 + 020 €0°0 02°0 ov—03 T K
05’1 4 w oro +  0F0 01°0 09°0 FE® I (16
0L°€¢ 1 oy oF'1T  + OV 0€°0 09°0 S YqWoQT=1 SV [TL XY
00°¢l 01 w 006 + 00 00'1 002 A yquogy =1 sy TRy
ST o 0z 9 05 9 05 9
dd dd dd dd
wOOBE R | T HHEERLT B (EMEN L )XTYE [V o % oA | B %

244



90 u .
- - 660 X 0071 wog =1 ‘0p-Ou T &
. a 660 X 0071 wog=1 Sy T E(E
- , SV MR
- - 700 X 090 SV T
- - 09°0 LR
. - 00°1 X 9670 +HE@ e 3%
- a 62’0 X 00T b T @il
- - 001 X €20 0v-0¥ LA R
. E 00T X 950 TH@ TLIH
. . 660 X 0071 A YqWoQT=1 SV [T GRS
— n 002 X 00T Jyquogr=1 sy TGS
Bk EIEER TGS OId K TTE [ X oA | W g
— V() . . — VB
b w =
‘ o =TT 05 ¢ dd

= VAEEA - A

245



+ T O & XK
KB4 T H4TIX,PP ¢ 50K % LHEEH ER) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 086 + 0060 + 0.1)= 056
HRAE (W) HXRMHD WHEELN e
A = 0.55 x( 087 - 030 - 0.16)= 0.23
HRAE (W) WL (h1) TR
PR = 0.55 X 0.46 - 00028 = 0.25 m
PH T
FEAE T IE = 0.56 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
KB4 T H4TIX,PP ¢ 50K % LHEEH ERMH) = 030 m
PP ¢ 50 PEH R (W) FIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.26 + 0.060 + )= 0.18
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16 )= 0.06
HRAE (W) WL (h1) TR
WU = X - = i
PH T
FEAE T IE = 0.18 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
FrhAT H4TX,PP ¢ 20{ % TE Bt ERH) = 030 m
PP ¢ 20 FEHHE (W) RKIRE (C)
EHEE(D2) 0.027 HE I E (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.26 + 0.027 + )= 0.16
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.27 - - 0.16)=  0.06
HIE (W) WIRFE (1) BRI
B = X - = i
PH T
7% L= 0.16 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 2 EIME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < 3
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
FrhAT HATX,PP ¢ 13 % TE Eat 5 ERH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
EHE(D2) 0.022 PR (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.26 + 0.022 + )= 0.15
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.27 - - 0.16)=  0.06
HRAE (W) WL (h1) TR
PO HLR = x - = nt
PH T
7% L= 0.15 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
¥ = D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
PP ¢ 50 60.0 0.55
7 |DGX¢ 75 90.0 0.55
8 |DGX ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |DGX ¢ 150 180.0 0.55
11 |DGX ¢ 200 250.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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FIEFEHBIT TR (T/KEEMM) PP$40,13

BEM 55

s B K OV X

4 ks o
[Epr] N
RYxFL 37 $ 40 52 + 15 + 55 + 20.0 + 0.55 32.8 m
613 1.5 + 1.0 + 1.0 3.5 m
PPESETF—X $40X ¢ 13 1+ 1 o+ 1 3 1
PVYAroh 613 1+ 1+ 1 3 1
PPaLR ¢ 40 1 1 1
PVaLR ¢ 40 1 1 1
¢ 40 613
BHRT—7 150mm 32.8 + 3.5 36.3 m
4t 3 3 &
[#%] N
AV F LB L ¢ 40 32.8 32.8 m
613 3.5 3.5 m
ik F—X TR R
PPHEE T $ 40 0.0 + 6.0 + 4.0 + 0.0 10 r
ik F—X TR R
613 6.0 + 3.0 + 0.0 + 00 9 r
BT — 7 sk L 36.3 36.3 m
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=V E) wo- — a3
L =V AR ur =TT 0% ¢ dd
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+ T B R
BT FEHT 1T X PP ¢ 40A3% TR ERMH) = 090 m
PP ¢ 40 FEHHE (W) RIE(C)
B (D2) 0.048 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.8 + 0.048 + 0.1)=  0.52
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.87 - 03 - 017)=  0.22
BaAE (W) HHABTE () A
PR = 0.55 X  0.448 - 0.0018 = 0.24 m
PH T
g L= 0.52 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 5 EOME 48
1 |PP¢13 21.5 0.55 W:| 5 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
PP ¢ 30
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 |HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT FEHT 1T X PP ¢ 13A3% TR e ERMH) = 065 m
PP ¢ 13 FEHHE (W) RIE(C)
EHE(D2) 0.022 JEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.55 + 0.022 + 0.1)=  0.37
HIE (W) BR(HD WML B
eaE R = 0.55 x( 062 - 030 - 0.17)=  0.08
B0 (W) WHFRE (h1) BT
PR = 0.55 X 0.42 - 00004 = 0.23 m
PH T
B = 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
¥ =g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 < N
15 [DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FTEFEHET1 TR{RER (T/KEBIR) PP940,13 EM, FHF

s B K OV X

4% Fr RS B B | waer
[Epr] %
RYxFL g7 $ 40 52 + 1.5 5.5 + 200 + 03 + 15 + 09 34.9 m
613 0.5 + 1.2 1.5 + 09 + 1.5 + 0.9 6.5 m
PPESETF—RA 640X ¢13 1+ 1 1 3 1
PPaLR ¢ 40 2+ 1 3 1
613 1+ 1 1 3 1
PVaLR ¢ 40 1 1 1
613 1+ 1 1 3 1
PRIE R & 40 32.2 32.2 m
[#%] %
AV F LB L ¢ 40 34.9 34.9 m
613 6.5 6.5 m
ik Fe K TR R
PR T $ 40 0.0 + 6.0 8.0 + 0.0 14 r
ik F—X TR R
613 0.0 + 3.0 12.0 + 0.0 15 £
AU F LR T ¢ 40 34.9 34.9 m
613 6.5 6.5 m
HEE it
B P> ¢ 40 34.9 X 0.788 = 27.50 27.5 kg
HEE it
PP¢13 6.5 X0.184 1.20 1.2 kg
5 28.7 kg
PPESETF— X Ak Ei
JEEERT T $40X ¢ 13 3 X2.330 = 6.99 7.0 kg
PPxLR Ak Ei
¢ 40 3 X 2155 = 6.47 6.5 kg
PPxLR Ak Ei
613 3 X 0.340 1.02 1.0 kg
PVILR Ak Ei
6 40 1 X2.150 = 2.15 2.2 kg
PVIE/LR {E kit
613 3 X0.365 1.10 1.1 kg
17.7 kg
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+ T O & XK
o B FHIT 1 X, PP ¢ 401 % TRt ERMH) = 030 m
PP ¢ 40 FEHHE (W) RIE(C)
B (D2) 0.048 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.20 + 0.048 + )= 0.14
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 ~ - 0.17)= 0.06
HRAE (W) WL (h1) TR
WU = X - = i
PH T
FEAE T IE = 0.14 n
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 5 EOME 48
1 |PP¢13 21.5 0.55 W:| 5 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
PP ¢ 30
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BB FHIT 1 X, PP ¢ 134Ra% TR et ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.2 + 0.022 + )= 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.17)=  0.06
HRAE (W) WL (h1) TR
WU = X - = i
PH T
g L= 0.12 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FIEFEHBT2 TRAER (T/KEBIR) PP$50,13 EM, FiF

s B K OV X

4 ks o
[Epr] AER
AT L7 ¢ 50 11.2 + 9.0 + 1.0 + 05 + 07 22.4 m
613 1.5 + 05 + 05 2.5 m
FCDRATF $ 50 1 1 #
HADFHE (IELE) [ JWWA B 132 ] 1 2l
N
PR25 (K) 2 2 1
LA
RA25 (A) 1 1 1
[
RC25(C) 1 1 1A
JEhR
RS25(S) 1 1 HH
MPYaA b ¢ 50 1 + 1 2 {El
PP/ Aok é 50 1 1 1
PPaLR ¢ 50 1+ 1+ 1 3 1
PV Aok 613 1+ 1+ 1 3 1
])])ﬁé‘;m
H R4 Ak $50X ¢13 3 3 1
& 50 $13
B ms—7 150mm 224 + 2.5 24.9 m
= —H—k 4 4 18
[#%] AR
AV F LB L ¢ 50 22.4 22.4 m
613 2.5 2.5 m
ik F—X TR R
PR T ¢ 50 20 4+ 0.0 + 6.0 + 0.0 8 £
ik F—X TR R
613 6.0 + 0.0 + 0.0 + 3.0 9 r
BT — 7 ek L 24.9 24.9 m
[AREIE
(Bt &) $ 50 1 1 T
RYmF LA
FRAKAREIAL T 650X ¢13 3 3 P
AH = AREE T, 650 2 2 | H
TR ¢ 50 2 2 8]
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+ T O & XK
BT HF FHET2 10X, PP ¢ 50AER TECEFI HER(H) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.86 + 0.060 + 0.1)=  0.56
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 087 - 03 - 0.16)=  0.23
HRAE (W) ORI (h1) TR
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.56 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 DX e 125 143.0 0.55 KD
10 |DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
BT P T2 T X PP ¢ 13A3% TR a1 ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.61 + 0.022 + 0.1)=  0.40
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.16)=  0.09
HRAE (W) WL (h1) TR
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
FEAE T IE = 0.40 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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FIEFEHBT2 T R{RER (T/KEBIR) PP$2513 &EM FF

s B K OV X

% W bsikics B 8| By
[Epr] RE%
RY=F L f7 ¢ 25 9.2+ 2.0 8.0 + 1.0 + 05 20.7 m
613 0.5 + 1.2 0.5 + 1.2 + 05 + 1.2 5.1 m
PRPREET—X 25X ¢13 1+ 1 1 3 1
PP R $13 1+ 1 ] 3 &
PVILR 613 1+ 1 1 3 &
BRI $ 25 20.7 20.7 m
BRUAx
A —=prr7 ¢ 25 1 1 1
[#%] RE%
Ao F L ERE T ¢ 25 20.7 20.7 m
613 5.1 5.1 m
Vo wh Fm R BN R Fshal
PR T ¢ 25 0.0 + 6.0 0.0+ 0.0 + 20 8 o
ik Fe K TR R
¢ 13 0.0 + 3.0 12.0 + 0.0 15 o
AV F LR T ¢ 25 20.7 20.7 m
613 5.1 5.1 m
R it
FESSE PP ¢ 25 20.7 X 0.423 = 8.76 8.8 kg
R it
PP ¢ 13 5.1 X0.184 0.94 0.9 kg
9.7 kg
PPESETF— X Ak Ein
JEFERI T $25X ¢ 13 3 X0.970 = 2.91 2.9 kg
PPxLR Ak Ei
613 3 X 0.340 1.02 1.0 kg
PVILR Ak Ei
613 3 X 0.365 1.10 1.1 kg
NV T Aok
$ 25 1 X0.600 = 0.60 0.6 kg
5.6 kg
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+ T B R
Rl 7 FHIT2 L X, PP ¢ 13 LR a5 HFXR(H) = 030 m
PP ¢ 13 FEHHE (W) RIE(C)
EHE(D2) 0.022 PR (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.26 + 0.022 + )= 0.15 m
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 027 - - 0.16)=  0.06 i
HRAE (W) WL (h1) TR
PR = X = — m
PH T
FEAE T IE = 0.15 m
KAE K (H) 1, SEREEHIBRF Ho

D2: B E—ER ()

X5 g D2:| 1 B 21.5
W[ 1 JEH 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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FTEFEHET3-2 TR AR (T/KEEM) PP$50,30,25 &#,F757

s B K OV X

4 ks o
[Epr] AER
Ry TS 25 4.0 + 17.0 20.0 41.0 m
¢ 20 0.5 + 1.5 0.5 2.5 m
613 1.0+ 1.7 0.5 3.2 m
Fsalfhs
HER IS $ 25 1 1 #
HADFHE (IELE) [ JWWA B 132 ] 1 2l
HEY T
PR25 (K) 2 2 1
IR
RAC25 (CA) 1 1 1
JEhR
RS25 (S) 1 1 HH
PPaLR é 20 1 1 &
PRPREEET—X 30X ¢25 1 1 1
25X ¢13 1 1 1
620X ¢13 1 1 1
PVYAroh 613 1+ 1 1 3 1
PPEEE Ao $ 25X ¢ 20 1 1 18
620X ¢13 1 1 1
¢ 25 ¢ 20 13
B ms—7 150mm 41.0 + 2.5 3.2 46.7 m
~—dr—Hi 5 5 |
[#%] AR
R F L BT ¢ 25 41.0 41.0 m
é 20 2.5 2.5 m
613 3.2 3.2 m
ik TR F—X R
PR T $ 30 0.0 + 0.0 2.0 + 0.0 2.0 r
Ak TR FeZ R Biar
$ 25 1.0+ 0.0 3.0+ 0.0 2.0 6.0 r
ik TR Fe K R
é 20 2.0 + 2.0 2.0 + 0.0 6.0 r
Vi TR F—K R
613 7.0+ 0.0 2.0 + 0.0 9.0 r
BT — 7 sk 46.7 46.7 m
AnsIE i
(R B Ts) 625 i 1B
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+ T O & XK
B[ EF FHIT3-2 T.1X PP ¢ 25Aa% L ERH A ERH) = 065 m
PP ¢ 25 FEHHE (W) RIE(C)
B (D2) 0.034 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.55 + 0.034 + 0.1)= 0.38
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.17)=  0.08
HRAE (W) ORI (h1) TR
PR = 0.55 X 0.434 - 0.0009 = 0.24 m
PH T
FEAE T IE = 0.38 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 3 EOME 34
1 |PP¢13 21.5 0.55 W:| 3 P H 0.55
2 |PP ¢ 20 27
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 |HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |DGX ¢ 250 271.6 0.60 =
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
B[ F FH T 3-2 T.X, PP ¢ 20A3% TR &gt 5 ERMH) = 065 m
PP ¢ 20 FEHHE (W) RIE(C)
EHE(D2) 0.027 PR (W) 0.55 + = 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 055 + 0.027 + 0.1)=  0.37 m
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.62 - 030 - 0.17)=  0.08 m
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.43 - 00006 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T B R
Rif 97 FH T 3-2 T.[X, PP ¢ 13A4% T G H ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
EHE(D2) 0.022 PR (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 055 + 0.022 + 0.1)=  0.37 m
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.17)=  0.08 i
HRAE (W) WL (h1) TR
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
FEAE T IE = 0.37 m
KAE K (H) 1, SEREEHIBRF Ho

D2: B E—ER ()

X5 g D2:| 1 B 21.5
W[ 1 JEH 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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FIEFHEBT4 T X AR (T/KEEMH) PP¢50,20,13 E#, FHi%

s B K OV X

4 ks o
[Epr] Ak
AT L7 ¢ 50 3.5 + 1.0 4.5 m
¢ 20 50 + 155 + 0.55 21.1 m
¢ 13 1.5 1.5 m
V7 M= ¢ 50 1 1 =S
HADFHE (IELE) [ JWWA B 132 ] 1 2l
HEY T
PR25 (K) 2 2 1
LA
RA25 (A) 1 1 1
[k
RC25(C) 1 1 &
JEhR
RS25 (S) 1 1 HH
MPYaA b ¢ 50 1+ 1 2 &
PREEE rob ¢ 50X ¢20 1 1 1
PVYAroh ¢ 13 1 1 1
PPEEF—X 620X ¢13 1 1 1
PP ® 20 ] 1 fi&
PV AR ® 20 ] 1 fi&
DIPF
H R4 Ak $ 100X ¢ 50 1 1 1
¢ 50 & 20 ¢ 13 Al )
B ms—7 150mm 0.0 + 211 + 1.5 0.55 22.0 m
= —H—Hh 3 3 &
HRAF oS & 20 1 1 1
[#%] Ak
AU F L EAEE L ¢ 50 4.5 4.5 m
é 20 21.1 21.1 m
613 1.5 1.5 m
ek F—X TR R
PR T ¢ 50 1.0 + 00 + 0.0 1.0 2 o
pZia i FeZ TR R
é 20 1.0 + 20 + 4.0 0.0 7 O
ik Fe K TR R
613 20 + 1.0 + 0.0 0.0 3 O
BT — 7 sk 22.0 22.0 m
(RIS )
(Bt &75) 650 i 1B
5 RAN
FRAAKAREIAL T ¢ 100X ¢ 50 1 1 P
AT = HVHET T ¢ 50 2 2 i1
TR ¢ 50 2 2 8]
R F L BT & 50 1 1 8]
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+ T O & XK
R 7 FH T 4L X, PP ¢ 504% LR a5 HER(H) = 090 m
PP ¢ 50 JEH IR (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
Yt E= 0.55 x( 0.8 + 0.060 + 0.1)=  0.53
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.87 - 03 - 017)=  0.22
BaAE (W) HHABTE () A
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.53 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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+ T K & K
BT [T 4 LK PP ¢ 20A3% TR a1 ERMH) = 065 m
PP ¢ 20 FEHHE (W) RIE(C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X( 055 + 0.027 + 0.1)= 037
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.62 - 030 - 0.17)=  0.08
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.43 - 00006 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT FEHT6 11X, PP ¢ 13A3% T a1 ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 055 + 0.022 + 0.1)=  0.37
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.17)=  0.08
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FIEFEHEBT4 T X% (T/KEEMH) PP¢50,20,13 E#, Fi%

s B K OV X

4 ks o
[Epr] %
RYTF L ¢ 50 1.0+ 0.6 0.5 2.1 m
¢ 20 0.5 + 0.3 40 + 155 + 03 + 1.5 + 0.9 23.0 m
613 1.5+ 0.9 2.4 m
PREEE rob ® 50X ¢ 20 1 1 1A
PRPREEET—X 620X ¢13 1 1 &
PPxLR ¢ 50 2 2 fi&
¢ 20 2+ 2 1 5 &
613 1 1 &
PV AR ® 20 ] 1 fi&
613 1 1 1
PRIE R $ 20 19.5 19.5 m
[#%] Rk
Ao F L ERE T ¢ 50 2.1 2.1 m
é 20 23.0 23.0 m
613 2.4 2.4 m
Vi Fe K TR R
PPHEE T ¢ 50 1.0+ 0.0 40 + 0.0 5 £
ek F—X TR R
é 20 1.0+ 2.0 12.0 + 0.0 15 r
ik Fe K TR R
613 0.0 + 1.0 40 + 0.0 5 r
YT FLEMRR L ¢ 50 2.1 2.1 m
é 20 23.0 23.0 m
613 2.4 2.4 m
HEE fifi
BT 5% PP ¢ 50 21 X1.216 = 2.55 2.6 | kg
HEE it
PP ¢ 20 23.0 X 0.269 = 6.19 6.2 kg
HEE it
PP ¢ 13 2.4 X0.184 = 0.44 0.4 kg
9.2 kg
PPREEZEYV 7ok % W
JEFERI T 50X ¢ 20 1 X1.960 1.96 2.0 kg
PPESETF— X Ak o
20X ¢13 1 X0.710 = 0.71 0.7 kg
PPxLR Ak Ei
¢ 50 2 X3.170 = 6.34 6.3 kg
PPxLR Ak Ei
é 20 5 X 0.490 = 2.45 2.5 kg
PPxLR fiFsk Hone
613 1 X0.340 = 0.34 0.3 kg
PVIE/LR i kit
6 20 1 X0.535 = 0.54 0.5 kg
PVIE/LR i kit
613 1 X0.365 = 0.37 0.4 kg
12.7 kg
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+ T O & XK
R 7 FH T 4L X, PP ¢ 501 LR a5 HER(H) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 080 + 0060 + 0.1)=  0.53
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.87 - 030 - 0.17)=  0.22
HRAE (W) WL (h1) TR
PR = 0.55 X 0.46 - 00028 = 0.25 m
PH T
FEAE T IE = 0.53 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
R 7 FH T 4L X, PP ¢ 501 LR a5 HFXR(H) = 030 m
PP ¢ 50 PEH R (W) FIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.2 0.060 + )= 0.14
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - 0.17)= 0.06
HRAE (W) WL (h1) TR
AL = = nt
PH T
FEAE T IE = 0.14 n
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
] B FHIT 4T, PP ¢ 201f% T Bt 5 ERMH) = 030 m
PP ¢ 20 FEHHE (W) RKIRE (C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.2 + 0.027 + )= 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.17)=  0.06
HIE (W) WIRFE (1) BRI
B = X - = i
PH T
7% L= 0.12 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < 3
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
] B FHIT 4T X, PP ¢ 13455 TR et ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.2 + 0.022 + )= 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.17)=  0.06
HIE (W) WIRFE (1) BRI
AL = x - = nt
PH T
7% L= 0.12 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
PP ¢ 50 60.0 0.55
7 |DGX¢ 75 90.0 0.55
8 |DGX ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 [DGX ¢ 150 180.0 0.55
11 |DGX ¢ 200 250.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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R EF EHETS T X AR

(F/KE

BEY) PP®50,20,13 &# 5%

FﬂﬁD&U\‘le

4 ks o
[Epr] AER
AT L7 ¢ 50 4.0 + 1.0 5.0 m
¢ 20 30.0 + 40 + 25 + 0.5 37.0 m
613 3.0+ 2.0 5.0 m
V7 M= ¢ 50 1 1 =S
s
I E (ELE) [ JWWA B 132 1 . @
Ry
PR25 (K) 2 2 1
LA
RA25 (A) 1 1 1
e
RC25(C) 1 1 &
JEhR
RS25(S) 1 1 HH
MPYaA b ¢ 50 1 + 1 2 {El
PP/ Aok ¢ 20 1 1 1
PREEE rob ¢ 50X ¢20 1 1 1
620X ¢13 1 1 1
PVYAroh ¢ 13 1+ 1 2 1
PPEEF—X 620X ¢13 1 1 1
]>]>:n/wji‘ ® 20 ] 1 fi&
OIPFA
/w Kk $ 100X ¢ 50 1 1 1
é 50 & 20 613
B ms—7 150mm 50 + 37.0 + 5.0 47.0 m
= —H—k 4 4 18
PRAFry ¢ 20 1 1 1
[#%] AR
HUmF LB T ¢ 50 5.0 5.0 m
é 20 37.0 37.0 m
613 5.0 5.0 m
ek F—X TR R
PPHET T ¢ 50 1.0 + 0.0 + 0.0 + 1.0 2 8]
ik F—X TR R
é 20 40 + 20 + 20 + 0.0 8 r
ik Fe K TR R
613 50 + 1.0 + 0.0 + 0.0 6 r
WT‘7~7°%H;;< I 47.0 47.0 m
{ DJ_L\ /‘LE?"
(Bt > ¢ 50 1 1 T
2o HANERE
FRAAKAREIAL T ¢ 100X ¢ 50 1 1 P
AT = HVHET T ¢ 50 2 2 i1
TR ¢ 50 2 2 8]
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6'C w 062 L
67 w 860 X 00°¢ R AgE %
el o Gz’0 X 00°¢G ) T R
[ o 82°0 X 00°S 0r-0d LA @
6'C w 850 X 00°G FHEG TLIH g

HHERTIEY0S ¢ dd X TTC In H 4 [ o o | W

= VAR w
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. =HX 4 w 0¢ ¢ dd




+ T O & XK
BT By FHINT5 L [X, PP ¢ 50AE% L HCE R ERMH) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.9 + 0060 + 0.1)=  0.58
HRAE (W) HXRMHD WHEER B
W R = 0.55 X ( 09 - 03 - 0.1)= 0.28
BaAE (W) HHABTE () A
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.58 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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6'CT w 06°6T L
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g8 w 00726 X €20 G TME @
7S w 00726 X ¥1°0 0v-0¥ T R
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| = VB wo

= VAR - R R - =HX4& w 02 ¢ dd
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+ T K & K
BT [ TS L X PP ¢ 20A3% TR a1 ERMH) = 065 m
PP ¢ 20 FEHHE (W) RIE(C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X( 065 + 0027 + 0.1)= 043
HRAE (W) HXRMHD WHEER B
W R = 0.55 X ( 0.65 - 030 - 0.1)= 0.14
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.43 - 00006 = 0.23 m
PH T
g L= 0.43 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 T
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT FEHTS L X PP ¢ 13A3% T a1 ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X ( 0.65 + 0.022 + 0.1)= 0.42
HRAE (W) HXRMHD WHEER B
W R = 0.55 X ( 065 - 03 -~ 0.1)= 0.14
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
g L= 0.42 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 T
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FTEFEHBET6 T X AR (T/KEEMH) PP 30,20,13 E#, FHi%

s B K OV X

4 ks & B | m
[Epr] AER
AT L7 ¢ 30 52 + 10.0 + 6.0 21.2 m
¢ 20 1.0+ 3.0 4.0 m
613 20 + 1.0 + 1.0 4.0 m
PREEE rob $ 30X ¢20 1 1 1
PVEEE rob 620X ¢13 1 1 1
PVYAroh 613 1+ 1+ 1 3 1
PPEEF—X 30X ¢13 1+ 1 2 1
620X ¢13 1 1 1
¢ 30 & 20 613
B ms—7 150mm 21.2 + 4.0 + 4.0 29.2 m
4t 5 5 18
[#%] N
Ao F L ERE T $ 30 21.2 21.2 m
é 20 4.0 4.0 m
613 4.0 4.0 m
ek F—X TR R
PPHEE T ¢ 30 1.0 + 40 + 00 + 0.0 5 r
ik F—X TR R
é 20 20 4+ 2.0 + 0.0 + 0.0 4 r
ek F—X TR R
613 7.0 4+ 3.0 + 0.0 + 00 10 r
BT — 7 sk L 29.2 29.2 m
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+ T O & XK
BT 5 FHIET6 11X, PP ¢ 30AEX L ECE R ERMH) = 065 m
PP ¢ 30 PEH R (W) RKIRE(C)
B (D2) 0.042 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 055 + 0.042 + 0.1)=  0.38
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.17)=  0.08
BaAE (W) HHABTE () A
PR = 0.55 X  0.442 - 0.0014 = 0.24 m
PH T
g L= 0.38 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME JEHINE D2:| 4 BHMVEE 42
1 |PP¢13 21.5 0.55 W:| 4 P H 0.55
2 |PP¢ 20 27.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 |HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT [T 6 1K, PP ¢ 20A3% T RceE 1 ERMH) = 065 m
PP ¢ 20 FEHHE (W) RIE(C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X( 055 + 0.027 + 0.1)= 037
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.62 - 030 - 0.17)=  0.08
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.43 - 00006 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT FEHT6 11X, PP ¢ 13A3% T a1 ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 055 + 0.022 + 0.1)=  0.37
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.17)=  0.08
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FTEFEHBET6 T X {RE% (T/KEEMH) PP 30,20,13 E#, FHi%

s B K OV X

4 ks o
[Epr] %
ARYxF LA ¢ 30 52 4+ 100 + 6.0 21.2 m
¢ 20 1.0+ 30 + 03 + 20 + 09 7.2 m
613 0.5 + 1.2 + 2.0 + 09 + 2.0 + 09 7.5 m
PPEEE Ao $ 30X ¢20 1 1 18
PPaLR é 20 2+ 1 3 1
PPaLR 613 1+ 1+ 1 3 1
PVERETLE | 620X 613 1 1 1]
PVaLsR ¢ 13 1+ 1 o+ 1 3 1A
PPREET—X $30X ¢13 1 + 1 2 1A
620X ¢13 1 1 1
BRI ¢ 30 25.2 25.2 m
[#%] %
Ao F L ERE T $ 30 21.2 21.2 m
é 20 7.2 7.2 m
613 7.5 7.5 m
ek F—X TR R
PPHEE T ¢ 30 1.0 + 40 + 00 + 0.0 5 r
ek F—X TR R
é 20 1.0+ 20 + 7.0 + 0.0 10 r
ik F—X TR R
613 0.0 + 3.0 + 13.0 + 0.0 16 r
AV F LR T ¢ 30 21.2 21.2 m
é 20 7.2 7.2 m
613 7.5 7.5 m
R fifi
BT 5% PP ¢ 50 21.2 X 1.216 = 25.78 258 | kg
T it
PP ¢ 30 7.2 X0.595 = 4.28 4.3 kg
T it
PP ¢ 13 7.5 X0.184 = 1.38 1.4 kg
31.4 kg
PPELE roh Ak Ein
JEFERI T & 30X ¢ 20 1 X0.980 = 0.98 1.0 kg
PPxLR Ak Ei
é 20 3 X 0.490 = 1.47 1.5 kg
PPxLR fiFhk Hone
613 3 X0.340 = 1.02 1.0 kg
PVREZT /R fisk b
20X ¢13 1 X0.470 = 0.47 0.5 kg
PVILR Ak Ei
613 3 X0.365 = 1.10 1.1 kg
PPESETF— X Ak ot
630X ¢13 2 X 1.610 = 3.22 3.2 kg
PPESETF— X Ak o
20X ¢13 1 X0.710 = 0.71 0.7 kg
9.0 kg
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+ T K & K
BT FEET6 11X, PP ¢ 201a% TR a1 ERMH) = 030 m
PP ¢ 20 FEHHE (W) RIE(C)
B (D2) 0.027 FEHIE (W) 0.55 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.20 + 0.027 + ) 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 ~ - 0.17)=  0.06
HIE (W) WIRFE (1) BRI
B = X - = i
PH T
g L= 0.12 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B JEHINE D2: EIME 27
PP ¢ 13 21.5 0.55 W: P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT FEHT6 L X, PP ¢ 130a% T a1 ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.2 + 0.022 + )= 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.17)=  0.06
HRAE (W) WL (h1) TR
WU = X - = i
PH T
g L= 0.12 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FIEFEHBT7-2 TR AR (T/KEEH) PP ¢ 20,13 E#, FiF

W B X% T

B

Zal 0 gk OB | B
[Epr] AER
Ry T Lo ¢ 20 14.0 3.0 0.5 17.5 m
¢ 13 0.5 1.0 1.5 m
PPESETF—RA 640X ¢ 20 1 1 1
620X ¢13 1 1 1
PPEEE Ao 20X ¢13 1 1 18
PV Aok 613 1 1 2 1
PPaLR é 20 1 1 &
¢ 20 613
B ms—7 150mm 17.5 5 19.0 m
< —H—4i 3 3 {8
[#%] AER
AT L BT ¢ 20 17.5 17.5 m
613 1.5 1.5 m
ik Fe K TR R
PPHEE T ¢ 40 0.0 2.0 0.0 + 0.0 2 r
ek F—X TR R
é 20 1.0 3.0 2.0 + 0.0 6 r
VA Fe X AR v
613 5.0 1.0 0.0 + 0.0 6 r
BT — 7 sk L 19.0 19.0 m
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+ T O & XK
B[ EF FHIT7-2 T.X PP ¢ 20A5% T ERH A ERH) = 065 m
PP ¢ 20 FEHHE (W) RIE(C)
B (D2) 0.027 FEHIE (W) 0.55 + = 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X ( 0.55 + 0.027 + 0.1)=  0.37 m
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.17)=  0.08 m
HRAE (W) ORI (h1) TR
PR = 0.55 X 0.427 - 0.0006 = 0.23 m
PH T
FEAE T IE = 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME JEHINE D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 |HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BA[EF FH T 7-2 X, PP ¢ 13A3% T Haat6 ERMH) = 065 m
PP ¢ 13 FEHHE (W) RIE(C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.55 + 0.022 + 0.1)=  0.37
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.62 - 030 - 0.17)=  0.08
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.42 - 00004 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FIEF BT 7-2 TR{RER (T/KEEH) PP ¢ 20,13 E#, FiF

s B K OV X

4 ks o
[Epr] %
U S o ® 20 14.0 + 3.0 0.5 17.5 m
¢ 13 0.5 + 1.0 1.5 m
PPESETF—RA 640X ¢ 20 1 1 1
620X ¢13 1 1 1
PPEEE Ao 20X ¢13 1 1 18
PV Aok 613 1+ 1 2 18
PP & 20 ] 1 fi&
PRIE R ¢ 20 15.0 15.0 m
[#%] %
Ao F L ERE T ¢ 20 17.5 17.5 m
613 1.5 1.5 m
ik Fe K TR R
PR T ¢ 40 0.0 + 2.0 0.0 0.0 2 £
Vi Fe K TR R
é 20 1.0+ 3.0 2.0 0.0 6 r
ik Fe K TR R
613 50 + 1.0 0.0 0.0 6 r
AU F LR T ¢ 20 17.5 17.5 m
613 1.5 1.5 m
R it
FESSE PP ¢ 20 175 X 0.269 = 4.71 4.7 kg
R it
PP ¢ 13 1.5 X0.184 = 0.28 0.3 kg
5.0 kg
PPESETF— X Ak Ei
JEEERT T 40X ¢ 20 1 X 2480 = 2.48 2.5 kg
PPESETF— X Ak Fi
20X ¢13 1 X0.710 = 0.71 0.7 kg
PPEEE /b Ak Ei
20X ¢ 13 1 X0.475 = 0.48 0.5 kg
PV ok fiEEx L
613 2 X0.375 = 0.75 0.8 kg
PPxLR fiFsk Hone
é 20 1 X0.490 = 0.49 0.5 kg
4.9 kg
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+ T K & K
B[ EF FHIT7-2 T.1X, PP ¢ 20{Ra% T ERH A ERH) = 030 m
PP ¢ 20 FEHHE (W) RIE(C)
B (D2) 0.027 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.20 + 0.027 + )= 0.12
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 ~ - 0.17)=  0.06
HIE (W) WIRFE (1) BRI
IR B = - = i
PH T
g L= 0.12 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T B R
Rif 95 FH T 7-2 T, PP ¢ 13fKa% TR G E ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
EHE(D2) 0.022 PR (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.2 + 0.022 + )= 0.12 m
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.27 - - 0.17)=  0.06 i
HRAE (W) WL (h1) TR
PR = X = — m
PH T
FEAE T IE = 0.12 mn
KAE K (H) 1, SEREEHIBRF Ho

D2: B E—ER ()

X5 g D2:| 1 B 21.5
W[ 1 JEH 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10

334



FIEFEHBT7-3 TRRASR (T/KEEM) PP$2520,13 M, 57

s B K OV X

4 ks o
[E#] AR
RYxFL g7 $ 25 14.5 14.5 m
¢ 20 1.0 + 1.0 2.0 m
¢ 13 1.0 + 0.3 1.5 m
PPEEET—X 20X $13 1 1 1
PPEARV Iroh ¢ 25X 20 1 1 1A
20X $13 1 1 1
PV Aok ¢ 13 1 + 1 2 1A
¢ 25 ¢ 20 613
BrF—7 150mm 145 + 2.0 + 1.5 15.0 m
~——h 3 3 1A
[F#] AR
RUoF LB L ¢ 25 14.5 14.5 m
¢ 20 2.0 2.0 m
613 1.5 1.5 m
ek F—X TR R
PPAEFT. ® 25 1.0 + 00 + 00 + 0.0 1 =
ik F—X TR R
¢ 20 20 + 20 + 00 + 0.0 4 &
ik Fe K TR R
¢ 13 50 + 1.0 + 0.0 + 0.0 6 &
BR7T— 7 ik 15.0 15.0 m
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+ T O & XK
R B FHIET7-3 T.X PP ¢ 25 AK5% T A ERtE ERH) = 065 m
PP ¢ 25 FEHHE (W) RIE(C)
B (D2) 0.034 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.55 + 0.034 + 0.1)= 0.38
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.17)=  0.08
HRAE (W) ORI (h1) TR
PR = 0.55 X 0.434 - 0.0009 = 0.24 m
PH T
FEAE T IE = 0.38 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 3 EOME 34
1 |PP¢13 21.5 0.55 W:| 3 P H 0.55
2 |PP ¢ 20 27
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 |HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |DGX ¢ 250 271.6 0.60 =
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
R BF FHIET7-3 T.1X PP ¢ 20AK5% T A ERtE ERH) = 065 m
PP ¢ 20 FEHHE (W) RIE(C)
EHE(D2) 0.027 PR (W) 0.55 + = 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 055 + 0.027 + 0.1)=  0.37 m
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.62 - 030 - 0.17)=  0.08 m
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.43 - 00006 = 0.23 m
PH T
g L= 0.37 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl BHME TR D2:| 2 EOME 27
PP ¢ 13 21.5 0.55 W:|[ 2 P H 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T B R
Rif 95 FH T 7-3 T [X, PP ¢ 13A43% T G E ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
EHE(D2) 0.022 PR (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 055 + 0.022 + 0.1)=  0.37 m
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.17)=  0.08 i
HRAE (W) WL (h1) TR
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
FEAE T IE = 0.37 m
KAE K (H) 1, SEREEHIBRF Ho

D2: B E—ER ()

X5 g D2:| 1 B 21.5
W[ 1 JEH 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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FIEFEHBT7-3 TR (T/KEE ) PP$2520,13 &M, 557

% W bsikics B 8| By
[Epr] RE%
RYTF L & 25 14.5 14.5 m
¢ 20 1.0 + 1.0 2.0 m
613 2.0 + 0.9 0.5 0.9 4.3 m
PRPREEET—X 620X ¢13 1 1 1
PPEEEY ok & 25X ¢ 20 1 1 &
620X ¢13 1 1 1
PP VIR ¢ 13 1 + 1 2 fi
PV LR 13 1+ 1 2 fi
PRIE R 625 14.5 14.5 m
¢ 20 2.0 2.0 m
[#%] RE%
ARU=F LB T ¢ 25 14.5 14.5 m
¢ 20 2.0 2.0 m
613 4.3 4.3 m
ek F—X TR R
PPAET T ¢ 25 1.0+ 0.0 0.0 0.0 1 o
ik F—X TR R
¢ 20 20 + 2.0 0.0 0.0 4 o
ek Fe K TR R
613 1.0+ 1.0 8.0 0.0 10 o
AV F LR T $ 25 14.5 14.5 m
¢ 20 2.0 2.0 m
613 4.3 4.3 m
HE£ i
FESSE PP 25 14.5 X 0.423 6.13 6.1 kg
= i
PP ¢ 20 2.0 X0.269 0.54 0.5 kg
= Er
PP 13 4.3 X 0.184 0.79 0.8 kg
7.5 kg
PPREZEF—X Ak o
JEFERI T 620X $13 1 X0.710 = 0.7 0.7 kg
PPREEV oM B o
25X ¢ 20 1 X0.665 0.67 0.7 kg
PPELE roh Ak s
$20X $13 1 X0.475 0.48 0.5 kg
PPxLR Ak Ei
613 2 X0.340 0.68 0.7 kg
PVILR Ak Ei
¢ 13 2 X0.365 0.73 0.7 kg
3.3 kg
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+ T B R
Rif 95 FH T 7-3 X, PP ¢ 13fKa% TR G E ERH) = 030 m
PP ¢ 13 FEHHE (W) RIE(C)
EHE(D2) 0.022 PR (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.20 + 0.022 + )= 0.12 m
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 027 - - 0.17)=  0.06 i
HRAE (W) WL (h1) TR
PR = X = — m
PH T
FEAE T IE = 0.12 mn
KAE K (H) 1, SEREEHIBRF Ho

D2: B E—ER ()

X5 g D2:| 1 B 21.5
W[ 1 JEH 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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PIEFEET8 T X AER (T/KE B ) PP $2513 B HTH

s B K OV X

4 ks o
[E#] AR
AT L ¢ 25 6.9 + 11.5 + 7.5 + 0.55 26.5 m
¢ 13 0.5 + 1.0 1.5 m
PPEETF—X 25X $13 1+ 1 2 1
PPasLR ®25 1 1 ]
PV LR ¢ 25 1 1 1A
PV Aok ¢ 13 1 + 1 2 1A
¢ 25 613
BrF—7 150mm 265 + 1.5 28.0 m
~——h 3 3 1A
[F#] A%
RUoF LB L ¢ 25 26.5 26.5 m
613 1.5 1.5 m
ik F—X TR R
PPHET T2 ¢ 25 0.0 + 40 + 4.0 + 0.0 8 u]
ik F—X TR R
¢ 13 40 + 20 + 0.0 + 0.0 6 u]
B~ — 7 gk T 28.0 28.0 m
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+ T O & XK
BT T8 T [X, PP ¢ 25A3% T el & ERMH) = 065 m
PP ¢ 25 FEHHE (W) RIE(C)
B (D2) 0.034 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.61 + 0.034 + 01)= 0.41
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.16)=  0.09
BaAE (W) HHABTE () A
PR = 0.55 X 0.434 - 0.0009 = 0.24 m
PH T
FEAE T IE = 0.41 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 3 EOME 34
1 |PP¢13 21.5 0.55 W:| 3 P H 0.55
2 |PP ¢ 20 27
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 |HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT [ T8 L X, PP ¢ 1343% T a1 ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.61 + 0.022 + 0.1)=  0.40
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.16)=  0.09
HIE (W) WIRFE (1) BRI
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
g L= 0.40 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 T
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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FTEFEHBTS TR {RE% (/K EBIR) PP 92513 &EM, FiF

5 17 .
P ke M B & OV 5 sK ¥ | w
[Epr] RE%

AT L ¢ 25 69 + 115 + 7.5 + 05 + 1.2 27.6 m
¢ 13 05 + 0.9 + 1.0 + 09 3.3 m
PPREET—X $25X ¢ 13 1+ 1 2 1A
PPxLR & 25 1+ 1 2 1A
613 1+ 1 2 1
RVES N ® 95 ] 1 fi&
613 1+ 1 2 1
PRIE R 625 25.9 25.9 m
[#%] IRE%
Ao F L ERE T & 25 27.6 27.6 m
613 3.3 3.3 m
ik F—X TR R
PPHET T ¢ 25 0.0 + 4.0 + 6.0 + 00 10 o
ik F—X TR R
613 0.0 + 2.0 + 8.0 + 00 10 o
AV F LR T $ 25 27.6 27.6 m
613 3.3 3.3 m
iR i
BT PP ¢ 25 27.6 X 0.423 = 11.67 11.7 kg
= Er
PP 13 3.3 X0.184 = 0.61 0.6 kg
12.3 kg
PPREZEF—X Ak Ein
JEFERI T 625X $13 2 X0.970 = 1.94 1.9 kg
PP LR Ak Fi
¢ 25 2 X0.720 = 1.44 1.4 kg
PPxLR Ak Ei
613 2 X0.340 = 0.68 0.7 kg
PVILR Ak Fi
625 1 X0.770 = 0.77 0.8 kg
PVIE/LR {E kit
613 2 X0.365 = 0.73 0.7 kg
5.6 kg
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+ T K & K
BT [ T8 LXK, PP ¢ 261 a% T a1 ERMH) = 030 m
PP ¢ 25 FEHHE (W) RIE(C)
B (D2) 0.034 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.26 + 0.034 + )= 0.16
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 ~ - 0.16)=  0.06
HIE (W) WIRFE (1) BRI
B = X - = i
PH T
g L= 0.16 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 E Tl B JEHINE D2:| 3 EOME 34
1 |PP¢13 21.5 0.55 W:| 3 P H 0.55
2 |PP ¢ 20 27
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T K & K
BT P T8 L X, PP ¢ 13a% T RceE e ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.26 + 0.022 + )= 0.15
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16)=  0.06
HIE (W) WIRFE (1) BRI
WU = X - = i
PH T
g L= 0.15 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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K@#3THI-TIREARER (T/KEEMM) HPEQT5,. PPp50 &t

s B K OV X

% W bsikics BB | e
[Epr] AER
EF& AT EE 675 2 2 ZN
Ky F Lo ¢ 50 0.5 0.5 0.7 1.7 m
EFFR &R ¢ 75X90° 2 2 &
P I 675 1 1 1
| DR T4 675 1 1 &
H=300
BF A &S~ 675 1 1 &
DIPH
WA FE G75X ¢ 75 1 1 =S
DIPH
AWK EF 675 1 1 &=
FCDRATF 1 1 #
HIIK
B (L E) | JWWA B 132 ] 2 3 2l
N
PR25 (K) 2 2 4 1
1 2 3 1
4 4 1
FEpEE
RC25(C) 1 2 3 &
JEhR
RS25 (S) 1 2 3 HH
MEV a1 b $ 50 2 2 1
K
BiE ¢ 75 1 1 {8
EFY 4o b 675 1 1 &
PP LR ¢ 50 2 2 fi&
HPE®
TRk G T5X ¢ 50 ] 1 ]
675 $50 LY
B ms—7 150mm 10.2 1.7 0.7 12.6 m
= —H—k 2 2 18
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X3 THI-1ITXRAE

(F/KE

BE) HPEQ75.PP®50

o

FﬂﬁD&U\‘H»lK

4 B Hks L SR
[#%] AER
HUmF LB T 675 10.2 10.2 m
$ 50 1.7 1.7 m
H) VArgh SR il
BT 675 20 + 2.0 + 30 + 1.0 3 o
ik F—X TR R
PREFET $ 50 0.0 + 0.0 + 40 + 1.0 5 £
FVEFLLA)—7 BT 675 10.2 10.2 m
B — 7 ik 12.6 12.6 m
1 Dﬁmki 1A )
(Bt Ets) ¢ 50 1 1 T
RYmFL A
FRAAKAEEIALT] 675X ¢ .)O 1 1 BB
AH=HNEFET $ 50 2 2 r
TR ¢ 75 2 2 8]
¢ 50 2 2 r
HAAREREL | H=1,090mm 2 2 BB
TR T 675X 75 1 1 BB
B YIFr R 675 1 1 BB
T VRSN T 675 1 1 8]
@ EEHARERET] H=1,090mm 1 1 BB
AN=HNHRTT 975 1 ! =
HEE ik
BT HPE ¢ 75 0.9 X 2.180 = 1.96 2.0 kg
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+ T O & XK
FKAp3T HI1-1TX,HPE ¢ 7oA TEEFH |#x0n)= 090 m
HPE ¢ 75 FEHHE (W) RIE(C)
B (D2) 0.090 FEHIE (W) 0.55 + = 0.55 m
HRAE (W) HXRMHD woNE b
Yt E= 0.55 x( 0.86 + 0.090 + 0.1)= 0.8 i
HRAE (W) HXRMHD WHEELN e
AR = 0.55 X ( 087 - 03 - 016)= 023 0
HRAE (W) ORI (h1) TR
PR = 0.55 X 0.490 - 0.0064 = 0.26 m
PH T
T T E = 0.58 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5 gOHE B e D2:| 7 EHME 90
1 |PP¢13 21.5 0.55 W:| 7 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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+ T O & XK
FAp3T H 1-1TX,PP ¢ 50A5% T et ERMH) = 090 m
PP ¢ 50 PEH R (W) FIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X ( 0.86 + 0.060 + 0.1)=  0.56
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 087 - 03 - 0.16)=  0.23
HRAE (W) WL (h1) TR
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
FEAE T IE = 0.56 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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KA#3THI-2LXEARR (T/KEEMM) HPEQT5.PP @50, 13 BH

s B K OV X

4 B A Bifr
[Epr] AER

EF& AT EE 675 EN
i et PR o ¢ 50 m
¢ 13 m
V7R 675 &=
FCDEU A F ¢ 50 #
I E (ELE) [ JWWA B 132 #H

N
PR25 (K) 1

e
RA25 (A) 1
FaBaE
RC25(C) 1
JEhR
RS25(S) 2l
MEP a1 b é 50 1
EFsF—=X 675X ¢ 75 1
EFYArob 675 1
PPaLR ¢ 50 1
W 613 1
HPEE

HRLAy KRR & 75X ¢ 50 1
675X ¢13 1
B ms—7 150mm m
= —H—k 1
PCPaA b 675 1




KAITHI2TXARFR(T/KEEM) HPEQT5. PP 50, 13

i
7

5

s B K OV X

4 ks o
[#%] N
Ao F L ERE T 675 41.4 41.4 m
$ 50 1.7 1.7 m
$13 3.0 3.0 m
[(=XE8 F—X ik
BT 675 8.0 + 2.0 + 4.0 14 o
ik F—X TR R
PPHEE T $ 50 0.0 + 0.0 + 4.0 + 1.0 5 £
ik F—X TR R
613 40 + 00 + 00 + 3.0 7 £
FVEFLLA)—7 BT 675 41.4 41.4 m
B — 7 Fisk T 45.4 45.4 m
ek iE 1l
(Bt &75) 675 ) L BiR
HufeakiE 1l
(Bt &75) 650 ) L BiR
RYmF L
FRAKEREIAL T 75X ¢ 50 1 1 BB
RY=FLE
675X ¢13 3 3 BB
AH =TT, 675 2 2 | H
® 50 2 2 £
TR ¢ 50 2 2 8]
A T 675 1 1 =
AU F L BT 675 1 1 8]
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+ T O & XK
FKAp3 T HI1-2 LXK, HPE ¢ 7oA TEEFH |#x0)= 090 m
HPE ¢ 75 FEHHE (W) RIE(C)
B (D2) 0.090 FEHIE (W) 0.55 + = 0.55 m
HRAE (W) HXRMHD woNE b
Yt E= 0.55 x( 0.86 + 0.090 + 0.1)= 0.8 i
HRAE (W) HXRMHD WHEELN e
AR = 0.55 X ( 087 - 03 - 016)= 023 0
HRAE (W) ORI (h1) TR
PR = 0.55 X 0.490 - 0.0064 = 0.26 m
PH T
T T E = 0.58 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5 gOHE B e D2:| 7 EHME 90
1 |PP¢13 21.5 0.55 W:| 7 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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+ T O & R
FAp3T H 1-2 LXK, PP ¢ 50A5% T et ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
BHR(D2) 0.022 PRAIE (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
H &= 0.55 X ( 0.61 + 0.022 + 0.1)=  0.40 m
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.62 - 03 - 0.16)=  0.09 i
HRAE (W) WL (h1) TR
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
FEAE T IE = 0.40 m
KAE K (H) 1, SEREEHIBRF Ho

D2: B E—ER ()

X5 g D2:| 1 B 21.5
W[ 1 JEH 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 < N
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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KA#3THI-2LX{RER (T/KEEMHM) HPEQT75. PP @50, 13 BH

s B K OV X

4% Fr RS B B | waer
[Epr] AER
EF& AT EE 675 1 1 i
R F L7 $ 50 0.5 + 240 + 0.5 0.5 + 05 26.0 m
$13 0.5 + 0.9 1.4 m
EF¥%w 7 675 1 1 1
PpPF—= & 50 1 1 1
PPaLR ¢ 50 1 1 1
613 1 1 1
PVLR é 13 1 1 18
BRI é 50 25.0 25.0 m
BhUfrx
A —=prrL7 ¢ 50 1 1 1
HPES
HRLAy AR 75X ¢ 50 1 1 1
PPH
HRLAy KRR $50X ¢13 1 1 1
DIP# H
HRLAy KRR 75X ¢ 50 1 1 1
K
e 675 1 1 1
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K#3THI2TX{ReZ(T/KEEM) HPEQT5. PP 50, 13

i
7

5

s B K OV X

4 B Hks L SR
[#%] AR
Ao F L ERE T 675 5.0 5.0 m
¢ 50 26.0 26.0 m
613 1.4 1.4 m
Xy o
BT 675 1.0+ 1.0 2 o
LN Fe X AR v Biar
PR T ¢ 50 0.0+ 3.0 + 20 + 20 + 2.0 9 o
ik F—X TR R
¢ 13 0.0+ 0.0 + 40 + 1.0 5 o
AV F LR T 675 1.5 1.5 m
¢ 50 26.0 26.0 m
613 1.4 1.4 m
AN=ANEBRETT] 075 1 ! =
FEERE BT 675 1 1 Y
RYmF L
FRAKEREIAL T 75X ¢ 50 1 1 BB
RYmF LA
$50X ¢13 1 1 BB
75X ¢ 50 1 1 BB
TR it
B HPE ¢ 75 1.5 X 2,180 = 3.27 3.3 kg
R fifi
PP ¢ 50 26.0 X 1.216 = 31.62 31.6 kg
R it
PP¢13 14 X 0184 = 0.26 0.3 kg
35.1 kg
PPF—= fias i
JEFERT T T ¢ 50 1 X 4770 = 4.77 4.8 kg
PPxLR %k R
¢ 50 1 X 3.170 = 3.17 3.2 kg
PPxLR %k R
613 1 X 0.340 = 0.34 0.3 kg
PVITILR ik MR
613 1 X 0.365 = 0.37 0.4 kg
AV A I T o
¢ 50 1 X 1.730 = 1.73 1.7 kg
10.4 kg
HRILAy Kk ik fiinid
AT $50X $13 1 X 1.700 = 1.70 1.7 kg

378




¢lo’0 = woel X w700 X /1 6700

210°0 1070 u T - ARG
0L°¢ b 1 060 + 090 + 087 wog =1 ‘0F-0 TR
0L°¢ 12 w 060 + 090 + 087 wog=1 sV i TE2E
AN [0 w 00 + 200 + 10 sV LR
AN [0 IS 00 + 200 + 100 SV e AR
07°¢ 3 i 010 + 020 + 067 T
0Z°¢ € w 010 + 020 + 067¢ FE® ISR
06T [ w + + 081 a T K
ee'l [ wm €00 + 0I'0 + 021 0¥ —0¥ T Rl
07°¢ 3 w 01’0 + 020 + 060 F E a4 TR
0L°€¢ 1 oy 060 + 090 + 08¢ A Yquogr =1 ‘sv |0 Y4
00°¢l 01 w 00T+ 002 + 000l A yquogy =1 sy TRy

ST o 05 9 GLO

dd dd HdH

w0 | E % |MEe| HHEFRTT X HEHEEN])XTC-TH e o % oA | %%

379




380

87 u 660 X 007§ wog =1 ‘0p-Ou B
87 u 660 X 007§ wog=1 Sy TE(E
1o w Y 00
[ro ur 700 X 08% SV T
6°C o 062 e
62 u 00°G X 860 FHql MR
el o 00°G X 92°0 G T @
1 w 006 X €30 0%-0Y T @il
67 jais 00°¢ X 860 FEqH L
8'C e GG'0 X 00°¢ A YqWoQT=1 SV [T GRS
00T w 002 X 006 A yFuwogT =1 ‘sy TGS
%W "o W HEEW T RGO AdH X Te-TH [ SdbY ok Wo# | oW ¥
5 =) =
VRO - RN - S =TT 6L ¢ ddH




+ T O & XK
FKAp3 T HI1-2 LXK, HPE ¢ 75k TEEFH |g#xan)= 090 m
HPE ¢ 75 FEHHE (W) RIE(C)
B (D2) 0.090 FEHIE (W) 0.55 + = 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 086 + 0090 + 0.1)= 0.58 m
HRAE (W) HXRMHD WHEELN e
A = 0.55 x( 087 - 030 - 0.16)=  0.23 i
HRAE (W) WL (h1) TR
PR = 0.55 X 0.49 - 00064 = 0.26 m
PH T
g L= 0.58 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 7 EHME 90
1 |PP¢13 21.5 0.55 W:| 7 P H 0.55
2 |PP ¢ 20 27
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
RAF3T H 1-2 7L X, PP ¢ 50fax LR E ERMH) = 030 m
PP ¢ 50 PEH R (W) FIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.26 + 0.060 + )= 0.18
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16 )= 0.06
HRAE (W) WL (h1) TR
WU = X - = i
PH T
FEAE T IE = 0.18 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
RAF3T H 1-2°L X, PP ¢ 13k LEEE ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.26 + 0.022 + )= 0.15 m
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 - - 0.16 )= 0.06 m
HRAE (W) WL (h1) TR
WOHE R = X - = i
PH T
7% L= 0.15 ni
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 1 BV 21.5
1 |PP¢13 21.5 0.55 W1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
PP ¢ 30
6 _|PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 -
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - 3
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10

38b




KHATHATIRAZR (T/KEEM) PP@50, 13 EM - FHF

s B K OV X

4 ks o
[&E4f] N
RYxZF LA ¢ 50 11.5 + 19.0 30.5 m
613 20 + 2.0 + 0.5 4.5 m
PR/ Ak ¢ 50 1 + 1 2 1A
PV Ao $13 1+ 1+ 1 3 &
PPH
F RSk $50X ¢ 13 1+ 1+ 1 3 &
¢ 50 ¢ 13
BHRT—7 150mm 30.5 + 4.5 35.0 m
4t 3 3 {8
[F#] N
Rz F L EmR T ¢ 50 30.5 30.5 m
¢ 13 4.5 4.5 m
ik Fe K TR R
PPRETF T ¢ 50 4.0 + 0.0 + 0.0 + 0.0 4 &
ik F—X TR R
¢ 13 6.0 + 00 + 00 + 3.0 9 m]
B~ — 7 gk T 35.0 35.0 m
RYmF LA
TR KBREIALT] 50X ¢13 3 3 BB
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+ T O & XK
K4 T HA L PP ¢ 50 LHEERH ERMH) = 090 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 x( 0.86 + 0.060 + 0.1)=  0.56
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 087 - 03 - 0.16)=  0.23
HRAE (W) ORI (h1) TR
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
g L= 0.56 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 DX e 125 143.0 0.55 KD
10 |DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T O & XK
KB4 T H4 TIX,PP ¢ 134K LHEEH ERMH) = 065 m
PP ¢ 13 FEHHE (W) RKIRE (C)
B (D2) 0.022 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.61 + 0.022 + 0.1)=  0.40
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 062 - 03 - 0.16)=  0.09
HRAE (W) WL (h1) TR
PR = 0.55 X 0.422 - 0.0004 = 0.23 m
PH T
FEAE T IE = 0.40 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 g D2:| 1 B 21.5
W:| 1 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 [DNS ¢ 450 476.8 1.10
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RKHATHATIXRER(T/KEEE) PP@50, 13 BEM. FHH

s B K OV X

4 ks o
[Epr] AER
RYxFL g7 050 30.5 + 0.3 2.0 + 09 33.7 m
613 0.5 + 0.9 0.5 + 09 + 20 + 09 5.7 m
PR/ Aok $ 50 1 1 1
PPaLR ¢ 50 2+ 2 4 18
613 1+ 1 1 3 1
PVaLR 613 1+ 1 1 3 1
PPH
YR kiR $50X ¢13 1+ 1 1 3 1
PRIE R é 50 30.5 30.5 m
[#%] AR
Ao F L ERE T ¢ 50 33.7 33.7 m
613 5.7 5.7 m
ik Fe K TR R
PPfEE T ¢ 50 2.0 + 0.0 8.0 + 0.0 10 r
ik F—X TR R
613 0.0 + 0.0 12.0 + 3.0 15 r
AU F LR T é 50 33.7 33.7 m
613 5.7 5.7 m
RYmF LA
FRASABREIAL T ¢50X ¢13 3 3 T
HEE fifi
B PP ¢ 50 33.7 X 1.216 = 40.98 41.0 kg
L it
PP ¢ 13 5.7 X 0.184 1.05 1.0 kg
42.0 kg
PP Ay fiEEL s
JEEERT T & 50 1 X2.910 = 291 2.9 kg
PPxLR Ak Ei
¢ 50 4 X3.170 = 12.68 12.7 kg
PPxLR fiFhk Hone
613 3 X 0.340 1.02 1.0 kg
PVILR Ak Ei
613 3 X0.365 1.10 1.1 kg
17.7 kg
PRV KA Ak Mg
BRI T T G50X ¢13 3 X1.700 5.10 5.1 kg
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+ T O & XK
KB4 T H4TIX,PP ¢ 50K % LHEEH ERMH) = 030 m
PP ¢ 50 PEH R (W) RKIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
R &= 0.55 x( 0.26  + 0.060 + )= 0.18
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 0.27 ~ - 0.16 )= 0.06
HRAE (W) WL (h1) TR
WU = X - = i
PH T
FEAE T IE = 0.18 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5y gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 S
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 =
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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+ T B R
KA T H4TIX,PP ¢ 13RaEE LHEEH ERMH) = 030 m
PP ¢ 13 FEHHE (W) RKIRE (C)
EHE(D2) 0.022 PR (W) 0.55 + = 0.55
HRAE (W) HXRMHD woNE b
R &= 0.55 X ( 0.26 + 0.022 + )= 0.15 m
HRAE (W) HXRMHD WHEELN e
eaE R = 0.55 x( 0.27 - - 0.16)=  0.06 i
HRAE (W) WL (h1) TR
PR = X = — m
PH T
FEAE T IE = 0.15 m
KAE K (H) 1, SEREEHIBRF Ho

D2: B E—ER ()

X5 g D2:| 1 B 21.5
W[ 1 JEH 0.55

2 |PP ¢ 20 27.0 0.55

3 |PP¢25 34.0 0.55

4 |PP ¢ 30 42.0 0.55

5 |PP¢40 48.0 0.55

6 _|PP ¢ 50 60.0 0.55

7 |HPE ¢ 75 90.0 0.55 __ o
=S

8 |HPE ¢ 100 125.0 0.55 o

9 |DGX¢ 125 143.0 0.55

10 |HPE ¢ 150 180.0 0.55

11 |HPE ¢ 200 250.0 0.60 I

12 |DGX ¢ 250 271.6 0.60

13 [DGX ¢ 300 322.8 0.70 _ <

14 |DGX ¢ 350 374.0 0.70 < N

15 |DGX ¢ 400 425.6 1.05

16 [DNS ¢ 450 476.8 1.10
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K#E3TH2LRAER(E/KEEME) HPEDTS5.PP50 E#

s B K OV X

4 ks o
[Epr] AER
EF& AT EE 675 10 10 A
RULF LT & 50 0.5 + 05 + 0.7 1.7 m
TR 75 1 1 1
DIPH
AWIARTFE $75X 675 1 1 %
DIPH
AWK EF 675 1 1 #
FCDRATF $ 50 1 1 #
PRy EN S
R E (ELE) | JWWA B 132 1+ 2 3 #H
N
PR25 (K) 2 4+ 2 4 1
e
RA25 (A) 1+ 2 3 18
[ERESIe=ng
RB25 (B) + 4 4 1
F &l HE
RC25(C) 1+ 2 3 &
JEhR
RS25(S) 1+ 2 3 2l
MPYaA b ¢ 50 1+ 1 2 &
B/ roh 675 2 2 1A
H=300
EF A S~ 675 1 1 1
PCPatv b 675 1 1 1
PPaLR ¢ 50 1+ 1 2 1
HPE®
H R4 Ak 75X ¢ 50 1 1 1
675 ¢50 Y
B ms—7 150mm 556 + 1.7 - 0.7 56.6 m
= —H—k 4 4 18
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K3 TH2TRAR (EKE

BE) HPE®75.PP®50

i
7

ot

s B K OV X

% W RS B B | waer
[#%] AER
HUmF LB T 675 55.6 55.6 m
¢ 50 1.7 1.7 m
=20 Fe X Ak Ak
BT 675 100+ 0.0 + 4.0 + 1.0 15 o
ik F—X TR R
PR T ¢ 50 0.0+ 0.0 + 40 + 1.0 5 £
FVEFLLA)—7 BT 675 55.6 55.6 m
BT —7 kL 56.6 56.6 m
RYmF L
FRAKEREIAL T 75X ¢ 50 1 1 BB
TR T 675X 75 1 1 BB
B YRR 675 1 1 BB
fi DJ#;&E” )
(ERtt & > ¢ 50 1 1 T
HAAREREL | H=1,090mm 2 2 BB
A= HVHETR L ¢ 75 2 2 )
¢ 50 2 2 r
TR ¢ 75 1 1 8]
é 50 2 2 r
feN e 675 1 1 o
AU F L BT 675 2 2 8]
R it
S 675 0.4 X4.200 = 1.68 1.7 kg
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+ T O & XK
FAR3 T H2 LXK, HPE ¢ 75 A% T4 it & ER) = 090 m
HPE ¢ 75 FEHHE (W) RIE(C)
B (D2) 0.090 FEHIE (W) 0.55 + = 0.55 m
HRAE (W) HXRMHD woNE b
Yt E= 0.55 x( 0.86 + 0.090 + 0.1)= 0.8 i
HRAE (W) HXRMHD WHEELN e
A = 0.55 X ( 0.87 - 03 - 0.16)=  0.23 0
HRAE (W) ORI (h1) TR
PR = 0.55 X 0.490 - 0.0064 = 0.26 m
PH T
g L= 0.58 m
SKOE R (HD) L, S EEE bR S
D2 : & S E—EF ()
X5 gOHE B e D2:| 7 EHME 90
1 |PP¢13 21.5 0.55 W:| 7 P H 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 _|PP ¢ 50 60.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 DX e 125 143.0 0.55 KD
10 [HPE ¢ 150 180.0 0.55
11 [HPE ¢ 200 250.0 0.55
12 |pGX 6 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 < c
15 |DGX ¢ 400 125.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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+ T O & XK
KA T H2 TIX,PP ¢ 50458 LR R ERMH) = 090 m
PP ¢ 50 PEH R (W) FIRE(C)
B (D2) 0.060 FEHIE (W) 0.55 + 0.55 m
HRAE (W) HXRMHD woNE b
TEH L &= 0.55 X ( 0.86 + 0.060 + 0.1)=  0.56
HRAE (W) HXRMHD WHEELN e
W R = 0.55 X ( 087 - 03 - 0.16)=  0.23
HRAE (W) WL (h1) TR
PR = 0.55 X  0.460 - 0.0028 = 0.25 m
PH T
FEAE T IE = 0.56 m
KAE K (H) 1, SEREEHIBRF Ho
D2 : & S E—EF ()
X5 gOHE B e D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 P H 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40
7 |HPE ¢ 75 90.0 0.55
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 D
10 |HPE ¢ 150 180.0 0.55
11 |HPE ¢ 200 250.0 0.55 I
12 |DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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AFREA
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CHEIS
450 X 350-200 1 1
ATT
680X 200-40 1 &
FEERR7 7 | 9 75X50 1 *
EFYAroh 675 1 &
[#%]
KA RRE T HUF A 1 @
ik
RlE AT 1 675 2 @
RUmF L FYI T 675 1 i
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